Colder Products Company RoHS-Compliant Products
Note: Any listed part number that includes the suffixes V (FKM), EPR (EPDM), HT (High Temperature),
FEP (Food-Grade EPDM), FBN (Food-Grade Buna), BN (Buna N), KAL (Kalrez®), FV (High Fluorine
Flourocarbon, HC (Hastelloy® C), SMZ (Simriz®) or MBLK (Molded Black) is also RoHS compliant.
Example: PLC17004 = Compliant PLC17004MBLK = Compliant PLC17004V = Compliant

Part Number Description
10400 PMCD2202 NSF
10600 PMC2104 NSF
10700 PMC1004 NSF
10800 PMCD2204 NSF
10900 PMC1704 NSF
11000 PMCD4204 NSF
11400 PMCD1704 NSF
11600 PMC2204 NSF
11700 PMC1002 NSF
11800 PMCD1002 NSF
12000 PMCD1002BSPT NSF
12100 PMCD1004 NSF
12400 PMC1204 NSF
12500 PMCD1204 NSF
12600 PMC1602 NSF
12700 PMCD1602 NSF
12900 PMCD1604 NSF
13200 PMC1702 NSF
13300 PMCD1702 NSF
13400 PMC2402 NSF
13500 PMC2402BSPT NSF
13700 PMCD2404 NSF
14100 PMCD4004NSF
14200 PMC4202 NSF
14300 PMCD4202 NSF
14500 PMC2004 NSF
14600 PMCD2004 NSF
14700 PMC2202 NSF
14900 PMC2302 NSF
15000 PMCD2302 NSF
15100 MCD2304 NSF
15200 MC1002 NSF
15500 MCD1002 NSF
15800 MC1004 NSF




15900

MCD1004 NSF

16000 PMCD1703 NSF
16200 MC1204 NSF
16800 MC1304 NSF
16900 MCD1304 NSF
17000 MC1702 NSF
17100 MCD1702 NSF
17200 MCD1704 NSF
17300 MC2402 NSF
17400 MCD2402 NSF
17500 MC2602 NSF
18000 MCD2404 NSF
18200 MCD2604 NSF
18600 MCD4004 NSF
18700 MC4202 NSF
18800 MCD4202NSF
19100 MC2004 NSF
19200 MCD2004 NSF
19400 MCD2202 NSF
19600 MCD2204 NSF
19900 MC2302 NSF
20100 PLC22006 NSF
20200 PLC23006 NSF
20300 PLC24004 NSF
20400 PLC10004 NSF
20500 PLC17006 NSF
20600 PLCD10006 NSF
20800 PLCD17006 NSF
21000 PLCD10004 NSF
21100 PLCD16004 NSF
21400 PLCD22006 NSF
21500 PLCD22004 NSF
22000 PLCD24004 NSF
22100 PLCD17004 NSF
22200 PLCD24006 NSF
22300 PLCD14006 NSF
22400 PLC22004 NSF
22500 PLC17004 NSF
22600 PLC10006 NSF
22900 PLCD14004 NSF
23000 PLC14004 NSF
23100 PLC29004 NSF
23200 PLC13004 NSF
23300 PLC20004 NSF




24300

PLCD13004 NSF

24400 PLC13006 NSF
24500 PLCD13006 NSF
24600 PLC14006 NSF
24700 PLCD29004 NSF
24800 PLC29006 NSF
24900 PLCD29006 NSF
25000 PLCD20004 NSF
25100 PLC20006 NSF
25200 PLCD20006 NSF
26000 PLCD40004 NSF
26100 PLCD24004BSPT NSF
26500 PLC42004 NSF
26600 PLCD42004 NSF
26700 PLCD16006 NSF
27700 PS1700612 NSF
28000 PLC16004 NSF
28200 PLCD11004 NSF
29400 PLC12004 NSF
29500 PLCD12004 NSF
29700 PLCD12006 NSF
30100 PLC11004 NSF
30400 PLC24006 NSF
30700 PLC40004 NSF
30900 PLCD40006 NSF
31200 PLC42006 NSF
31600 PLCD10004BSPT NSF
40700 APC17004 NSF
40800 APC17006 NSF
40900 APC22004 NSF
41000 APC22006 NSF
42000 1/4 FE FL NONVALVED INLINE BODY NSF
42100 APCD17004SH NSF
42200 APCD17006SH NSF
42300 APC24004 NSF
42400 APCD24004 NSF
42500 APC24006 NSF
42600 APCD22004 NSF
42700 APCD22006 NSF
42800 APCD23004 NSF
42900 APCD23006 NSF
43000 APCD21004 NSF
43100 APCD21006 NSF
43200 APCD13004SH NSF




43300 APCD13006SH NSF

43400 APCD20004 NSF

43500 APCD20006 NSF

44400 APC10004 NSF

44700 APC23006 NSF

44900 1/4 COMPRESSION VALVED INSERT NSF
45000 3/8 COMPRESSION VALVED INSERT NSF
45500 5/8 UNF FE VALVED BODY NSF
45600 APCD10004 NSF

45700 APCD10006 NSF

46000 1/4 COMPRESSION VALVED INLINE BODY NSF
46100 3/8 COMPRESSION VALVED BODY NSF
46200 APC23004NSF

48600 APCD24006 NSF

49200 APC10006 NSF

49300 APC13004SH NSF

49500 APC21004 NSF

49600 APC21006 NSF

60300 HFCD16812 NSF

60400 HFCD24812 NSF

60500 HFCD24612 NSF

60600 HFCD17612 NSF

60700 HFCD17812 NSF

61000 HFCD23812 NSF

61100 HFCD23612 NSF

61200 HFC10812 NSF

61300 HFC22812 NSF

61400 HFCD22812 NSF

61500 HFC17812 NSF

61800 HFCD101212 NSF

61900 HFCD171212 NSF

62000 HFCD161212 NSF

62100 HFCD241212 NSF

62200 HFCD221212 NSF

62500 HFC24612 NSF

62600 HFCD16612 NSF

62700 HFCD22612 NSF

62800 HFCD10812 NSF

63300 HFCD10612 NSF

63400 HFC10612 NSF

63500 HFC101212 NSF

63600 HFC17612 NSF

63700 HFC171212NSF

63800 HFC16612 NSF




63900

HFC16812 NSF

64000 HFC24812 NSF
64400 HFC23812 NSF
64700 HFCD161012NSF
64800 HFC171012 NSF
64900 HFCD171012 NSF
65000 HFC221012 NSF
65100 HFCD221012NSF
65200 HFC23612 NSF
65300 HFCD231212 NSF
65400 HFC231212 NSF
65500 HFC22612 NSF
70100 LC22004 NSF
70200 LC16004 NSF
70300 LCD16004 NSF
70400 LCD23004 NSF
70500 LCD22004 NSF
70700 LCD40006 NSF
70800 LCD17004 NSF
70900 LCD22006 NSF
71200 LC10004 NSF
71300 LCD23006 NSF
71400 LC24004 NSF
71500 LCD24004 NSF
71600 LC26004 NSF
71700 LCD26004 NSF
71800 LC24004BSPT NSF
71900 LCD24004BSPT NSF
72200 LC24006 NSF
72300 LCD24006 NSF
72400 LC24006BSPT NSF
72500 LCD24006BSPT NSF
72600 LC40004 NSF
72900 LC42004 NSF
73000 LCD42004 NSF
73100 LC42006 NSF
73200 LCD42006 NSF
73400 LCD20004 NSF
73500 LC20006 NSF
73600 LCD20006 NSF
73800 LCD22005 NSF
73900 LC22006 NSF
74300 LCD21006 NSF
74400 LC23004 NSF




74500

LC23006 NSF

74600 LCD10004 NSF
74800 LCD10004BSPT NSF
74900 LC10006 NSF

75000 LCD10006 NSF
75100 LC10006BSPT NSF
75200 LCD10006BSPT NSF
75400 LCD12004 NSF
75500 LC12006 NSF

75600 LCD12006 NSF
75700 LC16006 NSF

75800 LCD16006 NSF
76200 LCD13006 NSF
76300 LC17004 NSF

76400 LC17006 NSF

76500 LCD17006 NSF
80100 HFCD10635 NSF
80200 HFCD10835 NSF
80300 HFCD16635 NSF
80400 HFCD16835 NSF
80500 HFCD161235 NSF
80700 HFCD17835 NSF
80900 HFCD22635 NSF
81000 HFCD22835 NSF
81200 HFCD23635 NSF
81300 HFCD23835 NSF
81400 HFCD24635 NSF
81500 HFCD24835 NSF
82400 HFC171235 NSF
82500 HFC241235 NSF
82600 HFC261235GHT NSF
83000 HFC10835BSPT NSF
83100 HFC22835 NSF
83200 HFC17835 NSF
83400 HFC23835 NSF
83500 HFC17635 NSF
83600 HFC24635 NSF
85600 HFCD17635 NSF
85900 HFC101235GHT NSF
86000 HFCD101235GHT NSF
86100 HFC191235GHT NSF
86200 HFCD191235GHT NSF
86300 HFC10635 NSF
86400 HFC10835 NSF




86500

HFC16635 NSF

86600 HFC16835 NSF

86700 HFC10635BSPT NSF

86800 HFCD10635BSPT NSF

87000 HFC101235 NSF

87100 HFCD101235BSPT NSF

87600 HFCD171035 NSF

87700 HFC191235BSPP NSF

87900 HFC24635BSPT NSF

88000 HFCD24635BSPT NSF

88100 HFC24835 NSF

88200 HFCD24835BSPT NSF

88600 HFC241235GHT NSF

88700 HFCD241235GHT NSF

88900 HFC261235BSPP NSF

89000 HFCD261235BSPP NSF

89100 HFC22635 NSF

89300 HFCD221035 NSF

89400 HFC221235 NSF

89500 HFC23635 NSF

89600 HFCD261235GHT NSF

95100 1/2 HOSE BARB VALVED ELBOW BODY FDA EPDM SEAL UDC
95300 1/2 HOSE BARB VALVED BODY FDA EPDM SEAL UDC

95400 1/2 HOSE BARB VALVED ELBOW BODY SILICONE SEAL UDC
95600 1/2 HOSE BARB VALVED BODY SILICONE SEAL UDC

95800 38MM DISPENSING CAP SILICONE SEAL UDC

95801 38MM DISPENSING CAP SILICONE SEAL UDC

96000 1/2 HOSE BARB NONVALVED CLEAN IN PLACE ADAPTOR UDC
96400 38MM DISPENSING CAP FDA BUNA SEAL UDC

96401 38MM DISPENSING CAP FDA BUNA SEAL UDC

97400 38MM DISPENSING CAP FDA EPDM SEAL UDC

97401 38MM DISPENSING CAP FDA EPDM SEAL UDC

97600 1/2 HOSE BARB VALVED BODY FDA BUNA SEAL UDC

97700 1/2 HOSE BARB VALVED ELBOW BODY FDA BUNA SEAL UDC
97800 3/8 HOSE BARB VALVED ELBOW BODY FDA BUNA SEAL UDC
97900 5/8 HOSE BARB VALVED BODY FDA BUNA SEAL UDC

98100 5/8 HOSE BARB VALVED BODY FDA EPDM SEAL UDC

98400 3/8 HOSE BARB VALVED BODY FDA BUNA SEAL UDC

98500 3/8 HOSE BARB VALVED BODY FDA EPDM SEAL UDC

98600 3/4 HOSE BARB VALVED BODY FDA BUNA SEAL UDC

98700 3/4 HOSE BARB VALVED BODY FDA EPDM SEAL UDC

99000 3/8 HOSE BARB VALVED BODY SILICONE SEAL UDC

99100 5/8 HOSE BARB VALVED INLINE BODY ASSY SILICONE SEAL UDC
99200 3/4 HOSE BARB VALVED INLINE BODY ASSY SILICONE SEAL UDC




99300 3/8 HOSE BARB VALVED ELBOW BODY SILICONE SEAL UDC
99400 3/8 HOSE BARB VALVED ELBOW BODY FDA EPDM SEAL UDC
100800 1/4 PTF NUT

100900 MC PANEL NUT

100901 MC PANEL NUT STAINLESS STEEL
101700 RETAINING RING, MC MULTI-MOUNT
108900 3/8 PTF NUT

120700 LC PANEL NUT

120701 LC PANEL NUT

153600 NUT 1/8 PTF

269700 NUT 5/32 PTF

278100 RETAINING RING, LC MULTI MOUNT
339500 NUT 8MM PTF, BN PLATED

358400 NUT 10MM PTF

404300 PANEL NUT 7/16 UNS

496200 PUNCTURE SEAL PLUG

520300 NUT PANEL NUT LC ACETAL

621200 HFC PANEL MOUNT GASKET EPR
621300 NUT, PANEL MOUNT HFC

664400 MC PANEL NUT, ACETAL

668400 EFC PANEL MOUNT GASKET

694300 PANEL NUT, HFC

730600 O-RING, AS568-006, BUNA-N
730601 1-006 O-RING, FDA BUNA (WHITE)
730603 O-RING, AS568-006, EPDM

730604 O-RING, AS568-006, FKM (VITON)
730800 O-RING, AS568-008, BUNA-N
730801 1-008 O-RING, FDA BUNA (WHITE)
730802 O-RING, AS568-008, FDA EPDM
730803 O-RING, AS568-008, EPDM

730804 0O-RING, AS568-008, FKM (VITON)
731100 O-RING, AS568-011, BUNA-N
731101 1-011 O-RING, FDA BUNA (WHITE)
731102 O-RING ID.301 CS.070, FDA EPDM
731103 O-RING, AS568-011, EPDM

731104 O-RING, AS568-011, FKM (VITON)
731112 O-RING ID.301 CS.070, FDA BUNA-N
731123 O-RING AS568-011 EPDM MN RUBBER 212N
731600 O-RING ID.614 CS.070, BUNA-N
731601 O-RING ID.614 CS.070, FDA BUNA
731603 O-RING, AS568-016, EPDM

731604 O-RING 1D.614 CS.070, FKM (VITON)
731614 O-RING ID.614 CS.070

1011900 1/4 JOHN GUEST LOCKING CLIP RED




1012000 3/8 JOHN GUEST LOCKING CLIP RED

1012101 1/4 JOHN GUEST COLLET COVER BLK

1012102 1/4 JOHN GUEST COLLET COVER RED

1012103 1/4 JOHN GUEST COLLET COVER YEL

1012104 1/4 JOHN GUEST COLLET COVER GRY

1012105 1/4 JOHN GUEST COLLET COVER BLU

1012106 1/4 JOHN GUEST COLLET COVER GRN

1012201 3/8 JOHN GUEST COLLET COVER BLK

1012202 3/8 JOHN GUEST COLLET COVER RED

1012203 3/8 JOHN GUEST COLLET COVER YEL

1012204 3/8 JOHN GUEST COLLET COVER GRY

1012205 3/8 JOHN GUEST COLLET COVER BLU

1012206 3/8 JOHN GUEST COLLET COVER GRN

1058800 GASKET, PANEL MOUNT VITON CQH/CQV
1437400 O-RING, AS568-008, MEDICAL GRADE SILICONE
1800700 DUST CAP BODY & INSERT NSH/CQG

1830300 PANEL MOUNT GASKET APC SQUARE CUT AS568-115 BUNA
1879800 GASKET PANEL MOUNT INSERT NS4 INDUSTRIAL NON-SPILL
1884300 GASKET, PANEL MOUNT INSERT EPR NS6 INDUSTRIAL NON-SPILL
1889500 GASKET, PANEL MOUNT INSERT NS4 FKM
1889600 GASKET, PANEL MOUNT INSERT FKM NS6 INDUSTRIAL NON-SPILL
2007900 SHIPPING PLUG DRUM INSERT DQPRO

2165800 O-RING 50MM ID X 3MM CS EPDM

2165900 O-RING 50MM ID X 3MM CS FKM

2166000 2" BUTT GASKET DQPRO

2166100 2" BUTT GASKET DQ PRO FKM

2260100 O-RING, -011 MEDICAL GRADE SILICONE 50/BAG
2260200 O-RING, CLASS VI SILICONE, SQC 50/BAG
2290100 O-RING AS568-219 EPDM

2307200 O-RING AS568-219 FDA FKM

2339400 GASKET GARDEN HOSE THREAD

2375600 KEY INSTALLATION TOOL DQPRO

2402600 CONNECTOR 1/2 FNPT X 3/8 JACO

2402700 CONNECTOR 1/2 FNPT X 1/2 JACO

2402800 CONNECTOR 1/2 FNPT X 5/8 JACO

2402900 CONNECTOR 1/2 FNPT X 3/8 HOSE BARB
2403000 CONNECTOR 1/2 FNPT X 1/2 HOSE BARB
2403100 CONNECTOR 1/2 FNPT X 3/4 HOSE BARB
2408900 DRUM INSERT TORQUE SOCKET TOOL MOLDED
2418900 1/4-28 NUT POLYPRO 1/16 TUBING

2419000 1/4-28 NUT POLYPRO 1/8 TUBING

2419199 1/4-28 NUT ACETAL MBLK 1/16TUBING
2419299 1/4-28 NUT ACETAL MBLK 1/8 TUBING

2419300 FERRULE ETFE 1/16 TUBING




2419400 FERRULE ETFE 1/8 TUBING

2419500 FERRULE ETFE 1.8MM TUBING

2419600 FERRULE ETFE 3MM TUBING

2423400 SEAL KIT EPDM DQPRO COUPLER

2423500 SEAL KIT FKM DQPRO COUPLER

2478900 CHECK VALVE 1/2 FNPT X 1/2 MNPT EPR STAINLESS STEEL
2478901 CHECK VALVE 1/2 FNPT X 1/2 MNPT VALVED STAINLESS STEEL
2478902 CHECK VALVE 1/2 FNPT X 1/2 MNPT EPR HASTELLOY C

2478903 CHECK VALVE 1/2 FNPT X 1/2 MNPT VALVED HASTELLOY C
2479000 1/2 HOSE BARB DI FOOT VALVE ASSY DQPRO EPDM STAINLESS STEEL
2479001 1/2 HOSE BARB DI FOOT VALVE ASSY DQPRO VALVED STAINLESS STEEL
2479002 1/2 HOSE BARB DI FOOT VALVE ASSY DQPRO EPDM HASTELLOY C
2479003 1/2 HOSE BARB DI FOOT VALVE ASSY DQPRO VALVED HASTELLOY C
2479100 BUNG WRENCH DQPRO PACKAGED

2525200 GASKET 2" NPS DQPRO EPDM FDA

2525300 GASKET 2" NPS DQ PRO FKM FDA

2621100 REDUCER BUSHING 1/2 x 3/8 NPT, POLYPROPYLENE

2621200 REDUCER BUSHING 1/2 X 1/4 NPT, POLYPROPYLENE

2621300 PIPE PLUG, 1/4 NPT, POLYPROPYLENE

2621400 PIPE PLUG, 3/8 NPT, POLYPROPYLENE

2717000 3 PORT UDA SEAL, EPDM BULK PACKAGED

2717100 3 PORT UDA SEAL, FKM BULK PACKAGED

2879800 CHECK VALVE 1/2 HOSE BARB X 1/4 MNPT

2879801 CHECK VALVE 1/2 HOSE BARB X 1/4 MNPT PP FKM HASTELLOY C
9000100 PMC2304 NSF FBN

9000200 PMCD2304 NSF

9000800 PMCD2402 NSF

9001800 PMCD1603 NSF

9001900 PMC2203 NSF

9007200 PMC181032 NSF

9203301 3/8 BSPT VALVED INLINE BODY NSF

9203400 1/4 TUBE STUB NONVALVED INSERT NSF NATURAL

9203800 1/4 COMPRESSION NONVALVED BODY NSF

9204300 APC13004 NSF

9204400 APC13006 NSF

9204600 APC130M8 NSF

9207100 APC12004 NSF

9207200 3/8 PTF NONVALVED PANEL MOUNT BODY NSF

9207300 8MM PTF NONVALVED PANEL MOUNT BODY NSF

9207400 10MM PTF NONVALVED PANEL MOUNT BODY NSF

9207500 1/4 PTF VALVED PANEL MOUNT BODY NSF

9207600 3/8 PTF VALVED PANEL MOUNT BODY NSF

9207700 8MM PTF VALVED PANEL MOUNT BODY

9207800 10MM PTF VALVED PANEL MOUNT BODY NSF




9207900

APC16004 NSF

9208000 5/16 HOSE BARB NONVALVED PANEL MOUNT BODY NSF
9208100 3/8 HOSE BARB NONVALVED PANEL MOUNT BODY NSF
9208200 1/4 HOSE BARB VALVED PANEL MOUNT BODY NSF
9208300 5/16 HOSE BARB VALVED PANEL MOUNT BODY NSF
9208400 APCD16006 NSF

9461300 ASSY, DUDC NSF FDA SILICONE

9462000 38MM CAP ASSY UDC12 EPDM MBLK

9500000 ASSY, DUDC NSF EPR

2M3 1/8 NPT 3 PORT MANIFOLD

2M4 1/8 NPT 4 PORT MANIFOLD

2M5 1/8 NPT 5 PORT MANIFOLD

32M3 10-32 3 PORT MANIFOLD

32M4 10-32 4 PORT MANIFOLD

32M5 10-32 5 PORT MANIFOLD

4M3 1/4 NPT 3 PORT MANIFOLD

4MA4 1/4 NPT 4 PORT MANIFOLD

4M5 1/4 NPT 5 PORT MANIFOLD

APC10004 1/4 MNPT NONVALVED BODY

APC10004BSPT 1/4 BSPT NONVALVED BODY

APC10006 3/8 NPT NONVALVED BODY

APC10006BSPT 3/8 BSPT NONVALVED BODY

APC12004 1/4 PTF NONVALVED PANEL MOUNT BODY
APC12006 3/8 PTF NONVALVED PANEL MOUNT BODY
APC120M10 10MM PTF NONVALVED PANEL MOUNT BODY
APC120M8 8MM PTF NONVALVED PANEL MOUNT BODY
APC13004SH 1/4 PTF NONVALVED SHROUDED BODY
APC13006SH 3/8 PTF NONVALVED SHROUDED BODY
APC130M10SH 10MM PTF NONVALVED INLINE BODY W/SHROUD
APC130M8SH 8MM PTF NONVALVED INLINE BODY W/SHROUD
APC16004 1/4 HOSE BARB NONVALVED PANEL MOUNT BODY
APC16005 5/16 HOSE BARB NONVALVED PANEL MOUNT BODY
APC16006 3/8 HOSE BARB NONVALVED PANEL MOUNT BODY
APC17004 1/4 HOSE BARB NONVALVED INLINE BODY
APC17004SH 1/4 HOSE BARB NONVALVED SHROUDED BODY
APC17006 3/8 HOSE BARB NONVALVED INLINE BODY
APC17006SH 3/8 HOSE BARB NONVALVED BODY SHROUDED
APC20004 1/4 PTF NONVALVED INSERT

APC20006 3/8 PTF NONVALVED INSERT

APC200M10 10MM PTF NONVALVED INLINE INSERT
APC200M8 8MM PTF NONVALVED INSERT

APC21004 1/4 PTF NONVALVED ELBOW INSERT

APC21006 3/8 PTF NONVALVED ELBOW INSERT

APC22004 1/4 HOSE BARB NONVALVED INLINE INSERT




APC22006 3/8 HOSE BARB NONVALVED INLINE INSERT
APC23004 1/4 HOSE BARB NONVALVED ELBOW INSERT
APC23006 3/8 HOSE BARB NONVALVED ELBOW INSERT
APC24004 1/4 NPT NONVALVED INSERT

APC24004BSPT 1/4 BSPT NONVALVED INSERT

APC24006 3/8 NPT NONVALVED INSERT

APC24006BSPT 3/8 BSPT NONVALVED INSERT

APCD10004 1/4 MNPT VALVED BODY

APCD10004BSPT 1/4 BSPT VALVED INLINE BODY

APCD10006 3/8 NPTF VALVED BODY

APCD10006BSPT 3/8 BSPT VALVED INLINE BODY

APCD12004 1/4 PTF VALVED PANEL MOUNT BODY

APCD12006 3/8 PTF VALVED PANEL MOUNT BODY
APCD120M10 10MM PTF VALVED PANEL MOUNT BODY
APCD120M8 8MM PTF VALVED PANEL MOUNT BODY
APCD13004SH 1/4 PTF VALVED INLINE BODY W/SHROUD
APCD13006SH 3/8 PTF VALVED INLINE BODY W/SHROUD
APCD130M10SH 10MM PTF VALVED INLINE BODY W/SHROUD
APCD130M8SH 8MM PTF VALVED INLINE BODY W/SHROUD
APCD16004 1/4 HOSE BARB VALVED PANEL MOUNT BODY
APCD16005 5/16 HOSE BARB VALVED PANEL MOUNT BODY
APCD16006 3/8 HOSE BARB VALVED PANEL MOUNT BODY
APCD17004SH 1/4 HOSE BARB VALVED INLINE BODY W/SHROUD
APCD17006SH 3/8 HOSE BARB VALVED INLINE BODY W/SHROUD
APCD20004 1/4 PTF VALVED INLINE INSERT

APCD20006 3/8 PTF VALVED INLINE INSERT

APCD200M10 10MM PTF VALVED INLINE INSERT

APCD200M8 8MM PTF VALVED INLINE INSERT

APCD21004 1/4 PTF VALVED ELBOW INSERT

APCD21006 3/8 PTF VALVED ELBOW INSERT

APCD22004 1/4 HOSE BARB VALVED INLINE INSERT
APCD22006 3/8 HOSE BARB VALVED INLINE INSERT
APCD23004 1/4 HOSE BARB VALVED ELBOW INSERT
APCD23006 3/8 HOSE BARB VALVED ELBOW INSERT
APCD24004 1/4 MNPT VALVED INSERT

APCD24004BSPT 1/4 BSPT VALVED INSERT

APCD24006 3/8 NPT VALVED INSERT

APCD24006BSPT 3/8 BSPT VALVED INSERT

BAC22004 1/4 HOSE BARB NONVALVED BREAK-AWAY INSERT
BAC22004MBLK 1/4 HOSE BARB NONVALVED BREAK-AWAY INLINE INSERT MBLK
BACD16004 1/4 HOSE BARB VALVED PANEL MOUNT BREAK-AWAY BODY
BACD16004MBLK 1/4 HOSE BARB VALVED BREAK-AWAY BODY MBLK
BACD16006 3/8 HOSE BARB VALVED PANEL MOUNT BREAK-AWAY BODY
BACD16006MBLK 3/8 HOSE BARB VALVED PANEL MOUNT BREAK-AWAY BODY MBLK




BACD17004 1/4 HOSE BARB VALVED BREAK-AWAY BODY
BACD17004MBLK 1/4 HOSE BARB VALVED INLINE BREAK-AWAY BODY MBLK
BACD17006 3/8 HOSE BARB VALVED INLINE BREAK-AWAY BODY
BACD17006MBLK 3/8 HOSE BARB VALVED INLINE BREAK-AWAY BODY ASSY MBLK
BACD22004 1/4 HOSE BARB VALVED INLINE BREAK-AWAY INSERT
BACD22004MBLK 1/4 HOSE BARB VALVED INLINE BREAK-AWAY INSERT MBLK
BACD22006 3/8 HOSE BARB VALVED INLINE BREAK-AWAY INSERT
BACD22006MBLK 3/8 HOSE BARB VALVED INLINE BREAK-AWAY INSERT MBLK
BHU2202 1/8 HOSE BARB X 1/8 HOSE BARB PANEL MOUNT UNION
BHU2204 1/4 HOSE BARB X 1/4 HOSE BARB PANEL MOUNT UNION
BHU2206 3/8 HOSE BARB X 3/8 HOSE BARB PANEL MOUNT UNION
CP103 3 PORT MULTI-MOUNT PLATE

CP104 4 PORT MULTI-MOUNT PLATE

CP105 5 PORT MULTI-MOUNT PLATE

CODCNUTO0408 1/4 X 1/2 DUAL CONTAINMENT NUT KIT

CQDCNUTO0612 3/8 X 3/4 DUAL CONTAINMENT NUT KIT

CODCNUTO0812 1/2 X 3/4 DUAL CONTAINMENT NUT KIT

CQODCNUT1216 3/4 X 1 DUAL CONTAINMENT NUT KIT

CQGO6PMKITO1 PANEL MOUNT KIT CQG VITON

CQGD06100106 3/8 FLARE VALVED INLINE BODY

CQGD06100108 1/2 FLARE VALVED INLINE BODY

CQGD06100112 3/4 FLARE VALVED INLINE BODY

CQGD06100208 1/2 MNPT VALVED INLINE BODY

CQGD06200106 3/8 FLARE VALVED INLINE INSERT

CQGD06200108 1/2 FLARE VALVED INLINE INSERT

CQGD06200112 3/4 FLARE VALVED INLINE INSERT

CQGD06200206 3/8 MINPT VALVED INLINE INSERT

CQGD06200208 1/2 MINPT VALVED INLINE INSERT

CQGD06200212 3/4 MINPT VALVED INLINE INSERT

CQHD06100104 1/4 FLARE VALVED INLINE BODY

CQHD06100106 3/8 FLARE VALVED INLINE BODY

CQHD06100108 1/2 FLARE VALVED INLINE BODY

CQHD06100206 3/8 NPT VALVED INLINE BODY

CQHD06110104 1/4 FLARE VALVED PANEL MOUNT BODY

CQHD06110106 3/8 FLARE VALVED PANEL MOUNT BODY

CQHD06110108 1/2 FLARE VALVED PANEL MOUNT BODY

CQHD06110206 3/8 NPT VALVED PANEL MOUNT BODY

CQHD06200104 1/4 FLARE VALVED INLINE INSERT

CQHD06200106 3/8 FLARE VALVED INLINE INSERT

CQHD06200108 1/2 FLARE VALVED INLINE INSERT

CQHD06200206 3/8 NPT VALVED INLINE INSERT

CQHD06200212 3/4 MNPT VALVED INLINE INSERT

COPMDCNUT0408 1/4 FLARE X 1/2 FLARE PANEL MOUNT DUAL CONTAINMENT NUT
CQPMDCNUT0612 3/8 FLARE X 3/4 FLARE PANEL MOUNT DUAL CONTAINMENT NUT




COPMDCNUT0812 1/2 FLARE X 3/4 FLARE PANEL MOUNT DUAL CONTAINMENT NUT
CQPMDCNUT1216 3/4 FLARE X 1" FLARE PANEL MOUNT DUAL CONTAINMENT NUT
CQvD06100104 1/4 FLARE VALVED INLINE BODY

CQVvD06100106 3/8 FLARE VALVED INLINE BODY

CQvD06100108 1/2 FLARE VALVED INLINE BODY

CQVvD06100206 3/8 NPT VALVED INLINE BODY

CQvD06110104 1/4 FLARE VALVED PANEL MOUNT BODY
CQVvD06110106 3/8 FLARE VALVED PANEL MOUNT BODY
CQvD06110108 1/2 FLARE VALVED PANEL MOUNT BODY
CQVvD06110206 3/8 NPT VALVED PANEL MOUNT BODY

CQvD06200104 1/4 FLARE VALVED INLINE INSERT

CQVvD06200106 3/8 FLARE VALVED INLINE INSERT

CQvD06200108 1/2 FLARE VALVED INLINE INSERT

CQVvD06200206 3/8 NPT VALVED INLINE INSERT

DPC17004 1/4HB NV BODY ASM DUAL APC

DPC17006 3/8 HB NV BODY ASM DUAL APC

DPC22004 3/4 HB NV INST ASM DUAL APC

DPC22006 3/8 HB NV INST ASM DUAL APC

DPCD17004 1/4 HB V BODY ASM DUAL APC

DPCD17006 3/8HB V BODY ASSY DUAL APC

DPCD22004 1/4HB V INST ASM DUAL APC

DPCD22006 3/8HB V INST ASM DUAL APC

DQADAPP0212 3/4 NPSM X 3/4 NPSM ADAPTOR ASSY PP
DQADAPP0622 3/4 NPSM X 1 3/8 BUTRESS ADAPTOR ASSY
DQMBUNGPP2BUT12 BUNG PLUG, POLY, EPDM, 2" BUTRESS x 3/4 FEMALE NPS
DQMBUNGPP2NPS12 BUNG PLUG, POLY, EPDM, 2" NPS x 3/4 FEMALE NPS
DQMBUNGPP56X412 BUNG PLUG, POLY, EPDM, BCS 56X4 x 3/4 FEMALE NPS
DQMBUNGPP70X612 BUNG PLUG, POLY, EPDM, BCS 70X6 X 3/4 FEMALE NPS
DQMCAPPP63MM CAP, POLY, EPDM, 63MM X 3/4 FEMALE NPS
DQMCAPPP70MM CAP, POLY, EPDM 70MM X 3/4 FEMALE NPS
DQMCKPVDF0204 1/4 NPT CHECK VALVE

DQMCKPVDF0206 3/8 NPT CHECK VALVE, PVDF

DQMCKPVDF0208 1/2 NPT CHECK VALVE

DQMDI2PP2BSPP

2-11 BSPP DUAL BUNG

DQMDI2PP2BUT

2.469-5 BUT-2A DUAL BUNG 3/4 NPT X 3/8 NPT

DQMDI2PP2NPS

2-11.5 NPSM BUNG ADAPTOR KIT DQ PP

DQMDI2PP56X4

56 x 4 BUTRESS DUAL BUNG POLYPRO

DQMDI2PTFE2BSPP

2-11 BSPP DUAL BUNG

DQMDI2PTFE2BUT

2.469-5 BUT-2A DUAL BUNG 3/4 NPT X 3/8 NPT

DQMDI2PTFE2NPS

2-11.5 NPSM BUNG ADAPTOR KIT DQ PTFE

DQMDI2PTFE56X4

56 x 4 BUTTRESS DUAL BUNG PTFE

DQMDTUBEPP35

DIPTUBE KIT, 35" POLYPROPYLENE

DQMDTUBEPP55

DIPTUBE KIT, 55" POLYPROPYLENE

DQMDTUBEPTFE35

DIPTUBE KIT, 35" PTFE




DQMDTUBEPTFES5

DIPTUBE KIT, 55" PTFE

DQMFVPP0204 1/4 NPT FOOT VALVE DOM

DQMFVPP0208 1/2 NPT FOOT VALVE DOM

DQMFVPP0O708 1/2 COMPRESSION FOOT VALVE DOM

DQMPLUGPFA06 3/8 NPT PLUG PFA

DQMPLUGPFA12 3/4 NPT PLUG PFA

DQMSKITFEPVITON SEALKIT, FEP VITON

DQPRO120208 1/2 MNPT COUPLER ELBOW DQPRO

DQPR0O120208202 1/2 MNPT COUPLER ELBOW DQPRO FKM STAINLESS STEEL
DQPR0O120208206 1/2 MNPT COUPLER ELBOW DQPRO EPDM HASTELLOY C
DQPR0O120208207 1/2 MNPT COUPLER ELBOW DQPRO FKM STAINLESS STEEL
DQPRO120312 3/4 HOSE BARB ELBOW COUPLER

DQPRO120712 3/4 BSPP COUPLER ELBOW

DQPR0O120712202 3/4 BSPP MALE ELBOW COUPLER DQPRO FKM STAINLESS STEEL
DQPR0O120712206 DRUM INSERT PLUG 2" BUTT EPDM HASTELLOY C
DQPRO120712207 3/4 BSPP MALE ELBOW COUPLER DQPRO FKM HASTELLOY C
DQPRO202BUT DRUM INSERT PLUG 2" BUTT

DQPR0O202BUT202 DRUM INSERT PLUG 2" BUTT FKM

DQPRO2056X4 DRUM INSERT PLUG BSC 56X4

DQPRO2056X4202 DRUM INSERT PLUG BSC 56X4 FKM

DQPRO20G2NPSPL 2" NPS DRUM INSERT ASSY PLASTIC DRUM
DQPRO20G2NPSPL202 2" NPS DRUM INSERT ASSY FKM PLASTIC DRUM
DQPRO20G2NPSST 2" NPS DRUM INSERT ASSY, STEEL DRUM EPDM
DQPRO20G2NPSST202 2" NPS DRUM INSERT ASSY FKM STEEL DRUM
DQPRO70X6AD 70 X 6 ADAPTOR WITH EPDM SEAL

DQPRO70X6AD202 70 X 6 ADAPTOR WITH FKM SEAL

DQPROCAPBLK99 CAP ID KIT, COUPLER, BLK

DQPROCAPBLUOS CAP ID KIT, COUPLER, BLU

DQPROCAPBRNO4 CAP ID KIT, COUPLER, BRN

DQPROCAPCOMBO ID CAP COMBO KIT

DQPROCAPGRNO3 CAP ID KIT, COUPLER, GRN

DQPROCAPGRYO00 CAP ID KIT, COUPLER, GRY

DQPROCAPREDO1 CAP ID KIT, COUPLER, RED

DQPROCAPYELO2 CAP ID KIT, COUPLER, YEL

DQPRODT0410 DIP TUBE 410MM

DQPRODT0985 DIP TUBE 985MM

DQPRODT1070 DIP TUBE 1070MM

DQPRODT1274 DIT TUBE 1274MM

DQPROEUSAMP SAMPLE KIT, BSC 56X4, EPDM, STAINLESS STEEL
DQPROEUSAMP207 SAMPLE KIT, BSC 56X4, FKM, HASTELLOY C
DQPROKEYCPBLK99 KEY KIT, COUPLER, MBLK

DQPROKEYCPBLUOS KEY KIT, COUPLER, MBLU

DQPROKEYCPBRNO4 KEY KIT, COUPLER, MBRN

DQPROKEYCPCOMBO

KEY KIT COUPLER COMBO




DQPROKEYCPGRNO3

KEY KIT, COULPER, MGRN

DQPROKEYCPGRYO0O0 KEY KIT, COUPLER, MGRY
DQPROKEYCPREDO1 KEY KIT, COUPLER, MRED
DQPROKEYCPYELO2 KEY KIT, COUPLER, MYEL

DQPROKEYDIBLK99

KEY KIT, DRUM INSERT, MBLK

DQPROKEYDIBLUOS

KEY KIT, DRUM INSERT, MBLU

DQPROKEYDIBRNO4

KEY KIT, DRUM INSERT, MBRN

DQPROKEYDICOMBO

KEY KIT, DRUM INSERT, COMBO

DQPROKEYDIGRNO3

KEY RING, FE DRUM INSERT, MGRN

DQPROKEYDIREDO1

KEY KIT, DRUM INSERT, MRED

DQPROKEYDIYELO2

KEY KIT, DRUM INSERT, MYEL

DQPRONASAMP SAMPLE KIT, DQPRO 2 BUT, EPDM, STAINLESS STEEL
DQPRONASAMP207 SAMPLE KIT, DQPRO 2 BUT, FKM, HASTELLOY C
DQPRONPSPLSAMP SAMPLE KIT, DQPRO 2 NPS PL, EPDM, STAINLESS STEEL
DQPRONPSPLSAMP207 SAMPLE KIT, DQPRO 2 NPS PL, FKM, HASTELLOY C
DQPRONPSSTSAMP SAMPLE KIT, DQPRO 2 NPS ST, EPDM, STAINLESS STEEL
DQPRONPSSTSAMP207 SAMPLE KIT, DQPRO 2 NPS ST, FKM, HASTELLOY C
DQPROPLUGBLK99 BUTTON ID KIT, DRUM INSERT, BLK
DQPROPLUGBLUO5 BUTTON ID KIT, DRUM INSERT, BLU
DQPROPLUGBRNO4 BUTTON ID KIT, DRUM INSERT, BRN
DQPROPLUGCOMBO ID PLUG COMBO KIT

DQPROPLUGGRNO3 BUTTON ID KIT, DRUM INSERT

DQPROPLUGGRY00 BUTTON ID KIT, DRUM INSERT, GRY
DQPROPLUGREDO1 BUTTON ID KIT, DRUM INSERT, RED
DQPROPLUGYELO2 BUTTON ID KIT, DRUM INSERT, YEL

DQPUR120112 3/4FLARE COUPLER ASSY

DQPUR120112203 3/4FLARE COUPLER ASSY, SMZ PEEK
DQPUR120112208 3/AFLARE COUPLER ASSY, FKM PPS

DQPUR120112209 3/4FLARE COUPLER ASSY,SMZ PPS

DQPUR120112210 3/AFLARE COUPLER ASSY,TEF/STAINLESS STEEL FKM
DQPUR120112211 3/4FLARE COUPLER ASSY, SMZ TEF/STAINLESS STEEL
DQPUR202BUT DRUM INSERT 2" BUTTRESS

DQPUR202BUT202 DRUM INSERT 2" BUTTRESS FKM

DQPUR2BUT0334 DRUM INSERT ASSY 2" BUTT X 0334MM DIP TUBE
DQPUR2BUT0410 DRUM INSERT ASSY 2" BUTT X 0410MM DIP TUBE
DQPUR2BUT0410202 DRUM INSERT ASSY 2" BUTT X 0410MM DIP TUBE FKM
DQPUR2BUT0985 DRUM INSERT ASSY 2" BUTT X 0985MM DIP TUBE
DQPUR2BUT0985202 DRUM INSERT ASSY 2" BUTT X 0985MM DIP TUBE FKM
DQPUR2BUT1070 DRUM INSERT ASSY 2" BUTT X 1070MM DIP TUBE
DQPUR2BUT1070202 DRUM INSERT ASSY 2" BUTT X 1070MM DIP TUBE FKM
DQPUR2BUT1274 DRUM INSERT ASSY 2" BUTT X 1274MM DIP TUBE
DQPUR2BUT1274202 DRUM INSERT ASSY 2" BUTT X 1274MM DIP TUBE FKM
DQPURCPSEALFKM SEAL KIT, COUPLER, FKM

DQPURCPSEALSMZ

SEAL KIT, COUPLER, SMZ




DQPURDCNO812 DOUBLE CONTAINMENT NUT, 1/2 FL X 3/4 FL, PFA
DQPURDCN1216 DOUBLE CONTAINMENT NUT, 3/4 FLX 1 FL, PFA
DQPURDCPM0812 DOUBLE CONTAINMENT NUT, PANEL MOUNT, 1/2 FL X 3/4 FL, PFA
DQPURDCPM1216 DOUBLE CONTAINMENT NUT, PANEL MOUNT, 3/4 X 1 FL, PFA
DQPURDISEALFEP SEAL FEP ENCAPS SILICONE DRUM INSERT
DQPURDISEALPOE DRUM INSERT SEAL, POE

DQPURDTO0334 DIP TUBE 0334MM

DQPURDTO0410 DIP TUBE 410MM

DQPURDT0985 DIP TUBE 985MM

DQPURDT1070 DIP TUBE 1070MM

DQPURDT1274 DIP TUBE 1274MM

DQPURFC1208 FEM CONNECTOR, 3/4 MFL X 1/2 MNPT PFA
DQPURFI1216 FLARE INCREASER, 3/4 FFL x 1 MFL, PFA
DQPURFR1208 FLARE REDUCER 3/4 FE X 1/2 ML PFA

DQPURFT08 FLARING TOOL, 1/2

DQPURFT12 FLARING TOOL, 3/4

DQPURKEYCPBLK99 KEY KIT, COUPLER, MBLK

DQPURKEYCPBLUO5 KEY KIT, COUPLER, MBLU

DQPURKEYCPBRNO4 KEY KIT, COUPLER, MBRN

DQPURKEYCPCOMBO KEY KIT COUPLER COMBO

DQPURKEYCPGRNO3 KEY KIT, COULPER, MGRN

DQPURKEYCPGRYO0O KEY KIT, COUPLER, MGRY

DQPURKEYCPREDO1 KEY KIT, COUPLER, MRED

DQPURKEYCPYELO2 KEY KIT, COUPLER, MYEL

DQPURKEYDIBLK99

KEY KIT, DRUM INSERT, MBLK

DQPURKEYDIBLUOS

KEY KIT, DRUM INSERT, MBLU

DQPURKEYDIBRNO4

KEY KIT, DRUM INSERT, MBRN

DQPURKEYDICOMBO

KEY KIT DRUM INSERT COMBO

DQPURKEYDIGRNO3

KEY RING FE DRUM INSERT, MGRN

DQPURKEYDIREDO1

KEY KIT, DRUM INSERT, MRED

DQPURKEYDIYELO2

KEY KIT, DRUM INSERT, MYEL

DQPURMC0404 MALE CONNECTOR, 1/4 FLARE X 1/4 NPT PVDF
DQPURMC0604 MALE CONNECTOR, 3/8 FLARE X 1/4 NPT PVDF
DQPURMCO0804 MALE CONNECTOR, 1/2 FLARE X 1/4 NPT PVDF
DQPURSAMP202 SAMPLE KIT FKM PEEK

DQPURSAMP209 SAMPLE KIT SIMRIZ PPS

DQPURSE0808 SWEEP ELBOW, 1/2 FFL X 1/2 MFL PFA
DQPURSE1212 SWEEP ELBOW, 3/4 FFL X 3/4 MFL PFA
DQPURSP SHIPPING PLUG EPDM SEAL

DQPURSP202 SHIPPING PLUG SEAL FKM

DQUDA3P 3 PORT UDA ADAPTOR BULK PACKAGED
DQUDA3PKIT 3 PORT UDAKIT, EPDM

DQUDA3PKIT202 3 PORT UDAKIT, FKM

DQUDA3PNUT

3 PORT UDA SEAL, FKM BULK PACKAGED




DQUDACAP2PKITPP

BOTTLE CAP 2 PORT ADAPTER KIT

DQUDAKITPP35 UNIVERSAL DRUM ADAPTOR KIT PP 35"
DQUDAKITPP55 UNIVERSAL DRUM ADAPTOR KIT PP 55"
DSM2202 1/8 HOSE BARB NONVALVED INSERT

EFC22412 1/4 HOSE BARB NONVALVED INLINE INSERT
EFC22612 3/8 HOSE BARB NONVALVED INLINE INSERT
EFC23412 1/4 HOSE BARB NONVALVED ELBOW INSERT
EFC23612 3/8 HOSE BARB NONVALVED ELBOW INSERT
EFCD10412 1/4 NPT VALVED BODY

EFCD10612 3/8 NPT VALVED BODY

EFCD16412 1/4 HOSE BARB VALVED PANEL MOUNT BODY
EFCD16612 3/8 HOSE BARB VALVED PANEL MOUNT BODY
EFCD17412 1/4 HOSE BARB VALVED INLINE BODY
EFCD17612 3/8 HOSE BARB VALVED INLINE BODY
EFCD22412 1/4 HOSE BARB VALVED INLINE INSERT
EFCD22612 3/8 HOSE BARB VALVED INLINE INSERT
EFCD23412 1/4 HOSE BARB VALVED ELBOW INSERT
EFCD23612 3/8 HOSE BARB VALVED ELBOW INSERT
EFCD24412 1/4NPT VALVED INSERT

EFCD24612 3/8NPT VALVED INSERT

FFC101235 3/4NPT NONVALVED BODY

FFC101235BSPT 3/4BSPT NONVALVED BODY

FFC101235GHT 3/4GHT NONVALVED BODY

FFC10835 1/2NPT NONVALVED BODY

FFC10835BSPT 1/2BSPT NONVALVED BODY

FFC161235 3/4 HOSE BARB NONVALVED PANEL MOUNT BODY
FFC171235 3/4 HOSE BARB NONVALVED INLINE BODY
FFC191235BSPP 3/4 BSPP NONVALVED BODY

FFC191235GHT 3/4 GARDEN HOSE THREAD NONVALVED BODY
FFC221235 3/4 HOSE BARB NONVALVED INSERT
FFC241235 3/4 NPT NONVALVED INSERT

FFC241235BSPT 3/4 BSPT NONVALVED INSERT

FFC241235GHT 3/4 GARDEN HOSE THREAD NONVALVED INSERT
FFC24835 1/2 NPT NONVALVED INSERT

FFC24835BSPT 1/2 BSPT NONVALVED INSERT

FFC261235BSPP 3/4 BSPP NONVALVED INSERT

FFC261235GHT 3/4 GARDEN HOSE THREAD NONVALVED INSERT
HFC101212 3/4 NPT NONVALVED BODY

HFC101235 3/4 NPT NONVALVED BODY

HFC101235BSPT 3/4 BSPT NONVALVED BODY

HFC101235GHT 3/4 GARDEN HOSE THREAD NONVALVED BODY
HFC101257BSPT 3/4 BSPT NONVALVED BODY

HFC101257GHT 3/4 GARDEN HOSE THREAD NONVALVED BODY
HFC10612 3/8 NPT NONVALVED BODY




HFC10612BSPT 3/8 BSPT NONVALVED INLINE BODY ASSY HFC12
HFC10635 3/8 NPT NONVALVED BODY

HFC10635BSPT 3/8 BSPT NONVALVED BODY

HFC10657BSPT 3/8 BSPT NONVALVED BODY

HFC10812 1/2 NPT NONVALVED BODY

HFC10835 1/2 NPT NONVALVED BODY

HFC10835BSPT 1/2 BSPT NONVALVED BODY

HFC10857 1/2 NPT NONVALVED BODY

HFC10857BSPT 1/2 BSPT NONVALVED BODY

HFC12612 3/8 COMPRESSION NONVALVED PANEL MOUNT BODY
HFC12812 1/2 COMPRESSION NONVALVED PANEL MOUNT BODY
HFC13612 3/8 COMPRESSION NONVALVED INLINE BODY
HFC13812 1/2 COMPRESSION NONVALVED INLINE BODY
HFC161012 5/8 HOSE BARB NONVALVED PANEL MOUNT BODY
HFC161035 5/8 HOSE BARB NONVALVED PANEL MOUNT BODY
HFC161212 3/4 HOSE BARB NONVALVED PANEL MOUNT BODY
HFC161235 3/4 HOSE BARB NONVALVED PANEL MOUNT BODY
HFC16612 3/8 HOSE BARB NONVALVED PANEL MOUNT BODY
HFC16635 3/8 HOSE BARB NONVALVED PANEL MOUNT BODY
HFC16812 1/2 HOSE BARB NONVALVED PANEL MOUNT BODY
HFC16835 1/2 HOSE BARB NONVALVED PANEL MOUNT BODY
HFC171012 5/8 HOSE BARB NONVALVED INLINE BODY
HFC171035 5/8 HOSE BARB NONVALVED INLINE BODY
HFC171057 5/8 HOSE BARB NONVALVED INLINE BODY
HFC171212 3/4 HOSE BARB NONVALVED INLINE BODY
HFC171235 3/4 HOSE BARB NONVALVED INLINE BODY
HFC171257 3/4 HOSE BARB NONVALVED INLINE BODY
HFC17612 3/8 HOSE BARB NONVALVED INLINE BODY
HFC17635 3/8 HOSE BARB NONVALVED INLINE BODY
HFC17657 3/8 HOSE BARB NONVALVED INLINE BODY
HFC17812 1/2 HOSE BARB NONVALVED INLINE BODY
HFC17835 1/2 HOSE BARB NONVALVED INLINE BODY
HFC17857 1/2 HOSE BARB NONVALVED INLINE BODY
HFC191235BSPP 3/4 BSPP NONVALVED BODY

HFC191235GHT 3/4 GARDEN HOSE THREAD NONVALVED BODY
HFC191257BSPP 3/4 BSPP NONVALVED BODY

HFC191257GHT 3/4 GARDEN HOSE THREAD NONVALVED BODY
HFC20612 3/8 COMPRESSION NONVALVED INLINE INSERT
HFC20812 1/2 COMPRESSION NONVALVED INLINE INSERT
HFC221012 5/8 HOSE BARB NONVALVED INLINE INSERT
HFC221035 5/8 HOSE BARB NONVALVED INLINE INSERT
HFC221057 5/8 HOSE BARB NONVALVED INLINE INSERT
HFC221212 3/4 HOSE BARB NONVALVED INLINE INSERT
HFC221235 3/4 HOSE BARB NONVALVED INLINE INSERT




HFC221257 3/4 HOSE BARB NONVALVED INLINE INSERT
HFC22439M 1/4 HOSE BARB NONVALVED INLINE INSERT
HFC22612 3/8 HOSE BARB NONVALVED INLINE INSERT
HFC22635 3/8 HOSE BARB NONVALVED INLINE INSERT
HFC22639M 3/8 HOSE BARB NONVALVED INLINE INSERT
HFC22657 3/8 HOSE BARB NONVALVED INLINE INSERT
HFC22812 1/2 HOSE BARB NONVALVED INLINE INSERT
HFC22835 1/2 HOSE BARB NONVALVED INLINE INSERT
HFC22839M 1/2 HOSE BARB NONVALVED INLINE INSERT
HFC22857 1/2 HOSE BARB NONVALVED INLINE INSERT
HFC231212 3/4 HOSE BARB NONVALVED ELBOW INSERT
HFC23612 3/8 HOSE BARB NONVALVED ELBOW INSERT
HFC23635 3/8 HOSE BARB NONVALVED ELBOW INSERT
HFC23812 1/2 HOSE BARB NONVALVED ELBOW INSERT
HFC23835 1/2 HOSE BARB NONVALVED ELBOW INSERT
HFC241212 3/4 NPT NONVALVED INSERT

HFC241235 3/4 NPT NONVALVED INSERT
HFC241235BSPT 3/4 BSPT NONVALVED INSERT
HFC241235GHT 3/4 GARDEN HOSE THREAD NONVALVED INSERT
HFC241257BSPT 3/4 BSPT NONVALVED INSERT
HFC241257GHT 3/4 GARDEN HOSE THREAD NONVALVED INSERT
HFC24612 3/8 NPT NONVALVED INSERT
HFC24612BSPT 3/8 BSPT NONVALVED INLINE INSERT
HFC24635 3/8 NPT NONVALVED INSERT
HFC24635BSPT 3/8 BSPT NONVALVED INSERT
HFC24657BSPT 3/8 BSPT NONVALVED INSERT

HFC24812 1/2 NPT NONVALVED INSERT

HFC24835 1/2 NPT NONVALVED INSERT
HFC24835BSPT 1/2 BSPT NONVALVED INSERT

HFC24857 1/2 NPT NONVALVED INSERT
HFC24857BSPT 1/2 BSPT NONVALVED INSERT
HFC261235BSPP 3/4 BSPP NONVALVED INSERT
HFC261235GHT 3/4 GARDEN HOSE THREAD NONVALVED INSERT
HFC261257BSPP 3/4 BSPP NONVALVED INSERT
HFC261257GHT 3/4 GARDEN HOSE THREAD NONVALVED INSERT
HFC312 HFC CAP, BLUE

HFC312L HFC CAP TETHERED, BLU

HFCD101212 3/4 NPT VALVED BODY

HFCD101235 3/4 NPT VALVED BODY

HFCD101235BSPT 3/4 BSPT VALVED BODY

HFCD101235GHT 3/4 GARDEN HOSE THREAD VALVED BODY
HFCD101257BSPT 3/4 BSPT VALVED BODY

HFCD101257GHT 3/4 GARDEN HOSE THREAD VALVED BODY
HFCD10612 3/8 NPT VALVED BODY




HFCD10612BSPT 3/8 BSPT VALVED INLINE BODY

HFCD10635 3/8 NPT VALVED BODY

HFCD10635BSPT 3/8 BSPT VALVED BODY

HFCD10657BSPT 3/8 BSPT VALVED BODY

HFCD10812 1/2 NPT VALVED BODY

HFCD10835 1/2 NPT VALVED BODY

HFCD10835BSPT 1/2 BSPT VALVED BODY

HFCD10857 1/2 NPT VALVED BODY

HFCD10857BSPT 1/2 BSPT VALVED BODY

HFCD12612 3/8 COMPRESSION VALVED PANEL MOUNT BODY
HFCD12812 1/2 COMPRESSION VALVED PANEL MOUNT BODY
HFCD13612 3/8 COMPRESSION VALVED INLINE BODY
HFCD13812 1/2 COMPRESSION VALVED INLINE BODY
HFCD161012 5/8 HOSE BARB VALVED PANEL MOUNT BODY
HFCD161035 5/8 HOSE BARB VALVED PANEL MOUNT BODY
HFCD161057 5/8 HOSE BARB VALVED PANEL MOUNT BODY
HFCD161212 3/4 HOSE BARB VALVED PANEL MOUNT BODY
HFCD161235 3/4 HOSE BARB VALVED PANEL MOUNT BODY
HFCD161257 3/4 HOSE BARB VALVED PANEL MOUNT BODY
HFCD16612 3/8 HOSE BARB VALVED PANEL MOUNT BODY
HFCD16635 3/8 HOSE BARB VALVED PANEL MOUNT BODY
HFCD16657 3/8 HOSE BARB VALVED PANEL MOUNT BODY
HFCD16812 1/2 HOSE BARB VALVED PANEL MOUNT BODY
HFCD16835 1/2 HOSE BARB VALVED PANEL MOUNT BODY
HFCD16857 1/2 HOSE BARB VALVED PANEL MOUNT BODY
HFCD171012 5/8 HOSE BARB VALVED INLINE BODY
HFCD171035 5/8 HOSE BARB VALVED INLINE BODY
HFCD171057 5/8 HOSE BARB VALVED INLINE BODY
HFCD171212 3/4 HOSE BARB VALVED INLINE BODY
HFCD171235 3/4 HOSE BARB VALVED INLINE BODY
HFCD171257 3/4 HOSE BARB VALVED INLINE BODY
HFCD17439M 1/4 HOSE BARB VALVED INLINE BODY
HFCD17612 3/8 HOSE BARB VALVED INLINE BODY
HFCD17635 3/8 HOSE BARB VALVED INLINE BODY
HFCD17639M 3/8 HOSE BARB VALVED INLINE BODY
HFCD17657 3/8 HOSE BARB VALVED INLINE BODY
HFCD17812 1/2 HOSE BARB VALVED INLINE BODY
HFCD17835 1/2 HOSE BARB VALVED INLINE BODY
HFCD17839M 1/2 HOSE BARB VALVED INLINE BODY
HFCD17857 1/2 HOSE BARB VALVED INLINE BODY
HFCD191235BSPP 3/4 BSPP VALVED BODY

HFCD191235GHT 3/4 GARDEN HOSE THREAD VALVED BODY
HFCD191257BSPP 3/4 BSPP VALVED BODY

HFCD191257GHT 3/4 GARDEN HOSE THREAD VALVED BODY




HFCD20612 3/8 COMPRESSION VALVED INLINE INSERT
HFCD20812 1/2 COMPRESSION VALVED INLINE INSERT
HFCD221012 5/8 HOSE BARB VALVED INLINE INSERT
HFCD221035 5/8 HOSE BARB VALVED INLINE INSERT
HFCD221057 5/8 HOSE BARB VALVED INLINE INSERT
HFCD221212 3/4 HOSE BARB VALVED INLINE INSERT
HFCD221235 3/4 HOSE BARB VALVED INLINE INSERT
HFCD221257 3/4 HOSE BARB VALVED INLINE INSERT
HFCD22439M 1/4 HOSE BARB VALVED INLINE INSERT
HFCD22612 3/8 HOSE BARB VALVED INLINE INSERT
HFCD22635 3/8 HOSE BARB VALVED INLINE INSERT
HFCD22639M 3/8 HOSE BARB VALVED INLINE INSERT
HFCD22657 3/8 HOSE BARB VALVED INLINE INSERT
HFCD22812 1/2 HOSE BARB VALVED INLINE INSERT
HFCD22835 1/2 HOSE BARB VALVED INLINE INSERT
HFCD22839M 1/2 HOSE BARB VALVED INLINE INSERT
HFCD22857 1/2 HOSE BARB VALVED INLINE INSERT
HFCD231212 3/4 HOSE BARB VALVED ELBOW INSERT
HFCD23612 3/8 HOSE BARB VALVED ELBOW INSERT
HFCD23635 3/8 HOSE BARB VALVED ELBOW INSERT
HFCD23812 1/2 HOSE BARB VALVED ELBOW INSERT
HFCD23835 1/2 HOSE BARB VALVED ELBOW INSERT
HFCD241212 3/4 NPT VALVED INSERT

HFCD241235 3/4 NPT VALVED INSERT

HFCD241235BSPT 3/4 BSPT VALVED INSERT

HFCD241235GHT 3/4 GARDEN HOSE THREAD VALVED INSERT
HFCD241257BSPT 3/4 BSPT VALVED INSERT

HFCD241257GHT 3/4 GARDEN HOSE THREAD VALVED INSERT
HFCD24612 3/8 NPT VALVED INSERT

HFCD24612BSPT 3/8 BSPT VALVED INSERT

HFCD24635 3/8 NPT VALVED INSERT

HFCD24635BSPT 3/8 BSPT VALVED INSERT

HFCD24657BSPT 3/8 BSPT VALVED INSERT

HFCD24812 1/2 NPT VALVED INSERT

HFCD24835 1/2 NPT VALVED INSERT

HFCD24835BSPT 1/2 BSPT VALVED INSERT

HFCD24857 1/2 NPT VALVED INSERT

HFCD24857BSPT 1/2 BSPT VALVED INSERT
HFCD261235BSPP 3/4 BSPP FE VALVED INSERT
HFCD261235GHT 3/4 GARDEN HOSE THREAD VALVED INSERT
HFCD261257BSPP 3/4 BSPP VALVED INSERT

HFCD261257GHT 3/4 GARDEN HOSE THREAD VALVED INSERT
IPLC124HEPI 1/4 HOSE BARB NONVALVED ELBOW INSERT
IPLC124HPI 1/4 HOSE BARB NONVALVED INSERT




IPLC126HEPI 3/8 HOSE BARB NONVALVED ELBOW
IPLC126HPI 3/8 HOSE BARB NONVALVED INSERT
IPLC12DAHEPI 1/4 HOSE BARB VALVED ELBOW INSERT
IPLC12D4HP24A00 1/4 HOSE BARB READER

IPLC12D4HPI 1/4 HOSE BARB VALVED INLINE INSERT
IPLC12D6HEPI 3/8 HOSE BARB VALVED ELBOW
IPLC12D6HP24A00 3/8 HOSE BARB READER

IPLC12D6HPI 3/8 HOSE BARB VALVED INSERT

IPLCAHEPI 1/4 HOSE BARB NONVALVED ELBOW INSERT
IPLCAHPI 1/4 HOSE BARB NONVALVED INSERT
IPLC5HPI 5/16 HOSE BARB NONVALVED INLINE INSERT
IPLC6HEPI 3/8 HOSE BARB NONVALVED ELBOW INSERT
IPLC6HPI 3/8 HOSE BARB NONVALVED INLINE INSERT
IPLCD4HEPI 1/4 HOSE BARB VALVED ELBOW INSERT
IPLCDAHP24A00 1/4 HOSE BARB READER

IPLCD4HPI 1/4 HOSE BARB VALVED INSERT
IPLCD5HP24A00 5/16 HOSE BARB READER

IPLCD5HPI 5/16 HOSE BARB VALVED INLINE INSERT
IPLCD6HEPI 3/8 HOSE BARB ELBOW INSERT
IPLCD6HP24A00 3/8 HOSE BARB READER

IPLCD6HPI 3/8 HOSE BARB VALVED INLINE INSERT
IPMC124HPI 1/4 HOSE BARB NONVALVED INSERT
IPMC12D4HP24A00 1/4 HOSE BARB READER

IPMC12D4HPI 1/4 HOSE BARB VALVED INSERT

ISMF121HPI 1/16 HOSE BARB NONVALVED BODY
ISMF122HPI 1/8 HOSE BARB NONVALVED BODY
ISMF1HPI 1/16 HOSE BARB NONVALVED BODY
ISMF2HPI 1/8 HOSE BARB NONVALVED BODY
ISMFD1HPI 1/16 HOSE BARB VALVED BODY

ISMFD2HPI 1/8 HOSE BARB VALVED BODY

ISMFDM3HPI 3MM HOSE BARB VALVED BODY

ISMFM3HPI 3MM HOSE BARB NONVALVED BODY
ISMM121HPI 1/16 HOSE BARB NONVALVED INSERT
ISMM122HPI 1/8 HOSE BARB NONVALVED INSERT
ISMM1HPI 1/16 HOSE BARB NONVALVED INSERT
ISMM2HPI 1/8 HOSE BARB NONVALVED INSERT
ISMMM3HPI 3MM HOSE BARB NONVALVED INSERT
IUDC12DPT CAP ASSY SMART UDC MBLK PP THD SEAL
IUDC12DPU 38MM VALVED CAP ASSY SMART UDC MBLK PP
IUDCD10HP24A00 SMART COUPLER READER WITH 5/8 HOSE BARB
IUDCD12HP24A00 SMART COUPLER READER WITH 3/4 HOSE BARB
IUDCD12HP24A01 3/4 HOSE BARB READER SMART UDC SILICONE SEALS
IUDCD4HP24A00 1/4 HOSE BARB VALVED COUPLER READER
IUDCD6HP24A00 3/8 HOSE BARB VALVED COUPLER READER




IUDCD6HP24A01 3/8 HOSE BARB READER, SILICONE SEALS
IUDCD8HP24A00 1/2 HOSE BARB VALVED COUPLER READER
IUDCDPS SMART DUCD

IUDCDPT UDC W/THREAD SEAL PROGRAMMED

IUDCDPU UDC PROGRAMMED

LC10004 1/4 NPT NONVALVED BODY

LC10004BSPT 1/4 BSP NONVALVED BODY

LC10006 3/8 NPT NONVALVED BODY

LC10006BSPT 3/8 BSP NONVALVED BODY

LC12004 1/4 PTF NONVALVED PANEL MOUNT BODY
LC12006 3/8 PTF NONVALVED PANEL MOUNT BODY
LC13004 1/4 PTF NONVALVED INLINE BODY

LC13006 3/8 PTF NONVALVED INLINE BODY

LC15004 1/4 NPT NONVALVED PANEL MOUNT BODY
LC16004 1/4 HOSE BARB NONVALVED PANEL MOUNT BODY
LC16005 5/16 HOSE BARB NONVALVED PANEL MOUNT BODY
LC16006 3/8 HOSE BARB NONVALVED PANEL MOUNT BODY
LC17004 1/4 HOSE BARB NONVALVED INLINE BODY
LC17005 5/16 HOSE BARB NONVALVED INLINE BODY
LC17006 3/8 HOSE BARB NONVALVED INLINE BODY
LC20004 1/4 PTF NONVALVED INLINE INSERT

LC20006 3/8 PTF NONVALVED INLINE INSERT

LC21004 1/4 PTF NONVALVED ELBOW INSERT

LC21006 3/8 PTF NONVALVED ELBOW INSERT

LC22004 1/4 HOSE BARB NONVALVED INLINE INSERT
LC22005 5/16 HOSE BARB NONVALVED INLINE INSERT
LC22006 3/8 HOSE BARB NONVALVED INLINE INSERT
LC23004 1/4 HOSE BARB NONVALVED ELBOW INSERT
LC23006 3/8 HOSE BARB NONVALVED ELBOW INSERT
LC24004 1/4 NPT NONVALVED INSERT

LC24004BSPT 1/4 BSPT NONVALVED INSERT

LC24006 3/8 NPT NONVALVED INSERT

LC24006BSPT 3/8 BSPT NONVALVED INSERT

LC26004 1/4 NPT NONVALVED INSERT

LC26004BSPP 1/4 BSPP NONVALVED INSERT

LC40004 1/4 PTF NONVALVED PANEL MOUNT INSERT
LC40006 3/8 PTF NONVALVED PANEL MOUNT INSERT
LC42004 1/4 HOSE BARB NONVALVED PANEL MOUNT INSERT
LC42005 5/16 HOSE BARB NONVALVED PANEL MOUNT INSERT
LC42006 3/8 HOSE BARB NONVALVED PANEL MOUNT INSERT
LCD10004 1/4 NPT VALVED BODY

LCD10004BSPT 1/4 BSP VALVED BODY

LCD10006 3/8 NPT VALVED BODY

LCD10006BSPT 3/8 BSPT VALVED BODY




LCD12004 1/4 PTF VALVED PANEL MOUNT BODY
LCD12006 3/8 PTF VALVED PANEL MOUNT BODY
LCD13004 1/4 PTF VALVED INLINE BODY

LCD13006 3/8 PTF VALVED INLINE BODY

LCD15004 1/4 NPT VALVED PANEL MOUNT BODY
LCD16004 1/4 HOSE BARB VALVED PANEL MOUNT BODY
LCD16005 5/16 HOSE BARB VALVED PANEL MOUNT BODY
LCD16006 3/8 HOSE BARB VALVED PANEL MOUNT BODY
LCD17004 1/4 HOSE BARB VALVED INLINE BODY
LCD17005 5/16 HOSE BARB VALVED INLINE BODY
LCD17006 3/8 HOSE BARB VALVED INLINE BODY
LCD20004 1/4 PTF VALVED INSERT

LCD20006 3/8 PTF VALVED INLINE INSERT

LCD21004 1/4 PTF VALVED ELBOW INSERT

LCD21006 3/8 PTF VALVED ELBOW INSERT

LCD22004 1/4 HOSE BARB VALVED INLINE INSERT
LCD22005 5/16 HOSE BARB VALVED INLINE INSERT
LCD22006 3/8 HOSE BARB VALVED INLINE INSERT
LCD23004 1/4 HOSE BARB VALVED ELBOW INSERT
LCD23006 3/8 HOSE BARB VALVED ELBOW INSERT
LCD24004 1/4 NPT VALVED INSERT

LCD24004BSPT 1/4 BSPT VALVED INSERT

LCD24006 3/8 NPT VALVED INSERT

LCD24006BSPT 3/8 BSPT VALVED INSERT

LCD26004 1/4 FNPT VALVED INSERT

LCD26004BSPP 1/4 BSPP VALVED INSERT

LCD40004 1/4 PTF VALVED PANEL MOUNT INSERT
LCD40006 3/8 PTF VALVED PANEL MOUNT INSERT
LCD42004 1/4 HOSE BARB VALVED PANEL MOUNT INSERT
LCD42005 5/16 HOSE BARB VALVED PANEL MOUNT INSERT
LCD42006 3/8 HOSE BARB VALVED PANEL MOUNT INSERT
LCP103 3 PORT LC MULTI-MOUNT PLATE

LCP104 4 PORT LC MULTI-MOUNT PLATE

LCP105 5 PORT LC MULTI-MOUNT PLATE

LM12004 1/4 PTF NONVALVED MULTI-MOUNT BODY
LM12006 3/8 PTF NONVALVED MULTI-MOUNT BODY
LM16004 1/4 HOSE BARB NONVALVED MULTI-MOUNT BODY
LM16005 5/16 HOSE BARB NONVALVED MULTI-MOUNT BODY
LM16006 3/8 HOSE BARB NONVALVED MULTI-MOUNT BODY
LMD12004 1/4 PTF VALVED MULTI-MOUNT BODY
LMD12006 3/8 PTF VALVED MULTI-MOUNT BODY
LMD16004 1/4 HOSE BARB VALVED MULTI-MOUNT BODY
LMD16005 5/16 HOSE BARB VALVED MULTI-MOUNT BODY
LMD16006 3/8 HOSE BARB VALVED MULTI-MOUNT BODY




MC1002 1/8 NPT NONVALVED BODY

MC1002BSPT 1/8 BSPT NONVALVED BODY

MC1002K1 1/8 NPT NONVALVED BODY

MC1002K2 1/8 NPT NONVALVED BODY

MC1002K3 1/8 NPT NONVALVED BODY

MC1004 1/4 NPT NONVALVED BODY

MC1004BSPT 1/4 BSPT NONVALVED BODY

MC1004K1 1/4 NPT NONVALVED BODY

MC1004K2 1/4 NPT NONVALVED BODY

MC1004K3 1/4 NPT NONVALVED BODY

MC12025 5/32 PTF NONVALVED PANEL MOUNT BODY
MC1204 1/4 PTF NONVALVED PANEL MOUNT BODY
MC1204K1 1/4 PTF NONVALVED PANEL MOUNT BODY
MC1204K2 1/4 PTF NONVALVED PANEL MOUNT BODY
MC1204K3 1/4 PTF NONVALVED PANEL MOUNT BODY
MC1304 1/4 PTF NONVALVED INLINE BODY

MC1502 1/8 NPT NONVALVED PANEL MOUNT BODY
MC1602 1/8 HOSE BARB NONVALVED PANEL MOUNT BODY
MC1602K1 1/8 HOSE BARB NONVALVED PANEL MOUNT BODY
MC1602K2 1/8 HOSE BARB NONVALVED PANEL MOUNT BODY
MC1602K3 1/8 HOSE BARB NONVALVED PANEL MOUNT BODY
MC1603 3/16 HOSE BARB NONVALVED PANEL MOUNT BODY
MC1604 1/4 HOSE BARB NONVALVED PANEL MOUNT BODY
MC1604K1 1/4 HOSE BARB NONVALVED PANEL MOUNT BODY
MC1604K2 1/4 HOSE BARB NONVALVED PANEL MOUNT BODY
MC1604K3 1/4 HOSE BARB NONVALVED PANEL MOUNT BODY
MC1702 1/8 HOSE BARB NONVALVED INLINE BODY
MC1703 3/16 HOSE BARB NONVALVED INLINE BODY
MC1704 1/4 HOSE BARB NONVALVED INLINE BODY
MC181032 10-32 NONVALVED PANEL MOUNT BODY
MC20025 5/32 PTF NONVALVED INLINE INSERT

MC2004 1/4 PTF NONVALVED INLINE INSERT

MC2004K1 1/4 PTF NONVALVED INLINE INSERT

MC2004K2 1/4 PTF NONVALVED INLINE INSERT

MC2004K3 1/4 PTF NONVALVED INLINE INSERT

MC2006 3/8 PTF NONVALVED INLINE INSERT

MC21025 5/32 PTF NONVALVED ELBOW INSERT

MC2104 1/4 PTF NONVALVED ELBOW INSERT

MC2202 1/8 HOSE BARB NONVALVED INLINE INSERT
MC2202K1 1/8 HOSE BARB NONVALVED INLINE INSERT
MC2202K2 1/8 HOSE BARB NONVALVED INLINE INSERT
MC2202K3 1/8 HOSE BARB NONVALVED INLINE INSERT
MC2203 3/16 HOSE BARB NONVALVED INLINE INSERT
MC2204 1/4 HOSE BARB NONVALVED INLINE INSERT




MC2204K1 1/4 HOSE BARB NONVALVED INLINE INSERT
MC2204K2 1/4 HOSE BARB NONVALVED INLINE INSERT
MC2204K3 1/4 HOSE BARB NONVALVED INLINE INSERT
MC2302 1/8 HOSE BARB NONVALVED ELBOW INSERT
MC2304 1/4 HOSE BARB NONVALVED ELBOW INSERT
MC2402 1/8 MNPT NONVALVED INSERT

MC2402BSPT 1/8 BSPT NONVALVED INSERT

MC2402K1 1/8 MNPT NONVALVED INSERT

MC2402K2 1/8 NPT NONVALVED INSERT

MC2402K3 1/8 MNPT NONVALVED INSERT

MC2404 1/4 NPT NONVALVED INSERT

MC2602 1/8 NPT NONVALVED INSERT

MC2604 1/4 NPT NONVALVED INSERT

MC2604BSPP 1/4 BSPP NONVALVED INSERT

MC281032 10-32 NONVALVED INSERT

MC4004 1/4 PTF NONVALVED PANEL MOUNT INSERT
MC4202 1/8 HOSE BARB NONVALVED PANEL MOUNT INSERT
MC4203 3/16 HOSE BARB NONVALVED PANEL MOUNT INSERT
MC4204 1/4 HOSE BARB NONVALVED PANEL MOUNT INSERT
MCD1002 1/8 NPT VALVED BODY

MCD1002BSPT 1/8 BSPT VALVED BODY

MCD1002K1 1/8 NPT VALVED BODY

MCD1002K2 1/8 NPT VALVED BODY

MCD1002K3 1/8 NPT VALVED BODY

MCD1004 1/4 NPT VALVED BODY

MCD1004BSPT 1/4 BSPT VALVED BODY

MCD1004K1 1/4 NPT VALVED BODY

MCD1004K2 1/4 NPT VALVED BODY

MCD1004K3 1/4 NPT VALVED BODY

MCD12025 5/32 PTF VALVED PANEL MOUNT BODY
MCD1204 1/4 PTF VALVED PANEL MOUNT BODY
MCD1204K1 1/4 PTF VALVED PANEL MOUNT BODY
MCD1204K2 1/4 PTF VALVED PANEL MOUNT BODY
MCD1204K3 1/4 PTF VALVED PANEL MOUNT BODY
MCD1304 1/4 PTF VALVED INLINE BODY

MCD1502 1/8 NPT VALVED PANEL MOUNT BODY
MCD1602 1/8 HOSE BARB VALVED PANEL MOUNT BODY
MCD1602K1 1/8 HOSE BARB VALVED PANEL MOUNT BODY
MCD1602K2 1/8 HOSE BARB VALVED PANEL MOUNT BODY
MCD1602K3 1/8 HOSE BARB VALVED PANEL MOUNT BODY
MCD1603 3/16 HOSE BARB VALVED PANEL MOUNT BODY
MCD1604 1/4 HOSE BARB VALVED PANEL MOUNT BODY
MCD1604K1 1/4 HOSE BARB VALVED PANEL MOUNT BODY
MCD1604K2 1/4 HOSE BARB VALVED PANEL MOUNT BODY




MCD1604K3 1/4 HOSE BARB VALVED PANEL MOUNT BODY
MCD1702 1/8 HOSE BARB VALVED INLINE BODY

MCD1703 3/16 HOSE BARB VALVED INLINE BODY
MCD1704 1/4 HOSE BARB VALVED INLINE BODY
MCD181032 10-32 VALVED PANEL MOUNT BODY

MCD20025 5/32 PTF VALVED INSERT

MCD2004 1/4 PTF VALVED INSERT

MCD2006 3/8 PTF VALVED INSERT

MCD21025 5/32 PTF VALVED ELBOW INSERT

MCD2104 1/4 PTF VALVED ELBOW INSERT

MCD2202 1/8 HOSE BARB VALVED INSERT

MCD2203 3/16 HOSE BARB VALVED INSERT

MCD2204 1/4 HOSE BARB VALVED INSERT

MCD2302 1/8 HOSE BARB VALVED ELBOW INSERT
MCD2304 1/4 HOSE BARB VALVED ELBOW INSERT
MCD2402 1/8 NPT VALVED INSERT

MCD2402BSPT 1/8BSPT VALVED INSERT

MCD2404 1/4 NPT VALVED INSERT

MCD2602 1/8 NPT VALVED INSERT

MCD2604 1/4 FNPT VALVED INSERT

MCD2604BSPP 1/4 BSPP VALVED INSERT

MCD281032 10-32 VALVED INSERT

MCD4004 1/4 PTF VALVED PANEL MOUNT INSERT
MCD4202 1/8 HOSE BARB VALVED PANEL MOUNT INSERT
MCD4203 3/16 HOSE BARB VALVED PANEL MOUNT INSERT
MCD4204 1/4 HOSE BARB VALVED PANEL MOUNT INSERT
MM1204 1/4 PTF NONVALVED MULTI-MOUNT BODY
MM1602 1/8 HOSE BARB NONVALVED MULTI-MOUNT BODY
MM1603 3/16 HOSE BARB NONVALVED MULTI-MOUNT BODY
MM1604 1/4 HOSE BARB NONVALVED MULTI-MOUNT BODY
MM181032 10-32 MV MULTI-MOUNT BODY

MMD1204 1/4 PTF VALVED PANEL MOUNT MULTI-MOUNT BODY
MMD1602 1/8 HOSE BARB VALVED MULTI-MOUNT BODY
MMD1603 3/16 HOSE BARB VALVED MULTI-MOUNT BODY
MMD1604 1/4 HOSE BARB VALVED MULTI-MOUNT BODY
MMD181032 10-32 VALVED MULTI-MOUNT BODY
MPC17004T 1/4 HOSE BARB NONVALVED INLINE BODY
MPC17004T03 1/4 HOSE BARB NONVALVED INLINE BODY
MPC17004T39 1/4 HOSE BARB NONVALVED INLINE BODY
MPC17006T 3/8 HOSE BARB NONVALVED INLINE BODY
MPC17006T03 3/8 HOSE BARB NONVALVED INLINE BODY
MPC17006T39 3/8 HOSE BARB NONVALVED INLINE BODY
MPC22004T 1/4 HOSE BARB NONVALVED INSERT
MPC22004T03 1/4 HOSE BARB NONVALVED INSERT




MPC22004T03M 1/4 HOSE BARB NONVALVED INSERT
MPC22004T39M 1/4 HOSE BARB NONVALVED INSERT
MPC22004TM 1/4 HOSE BARB NONVALVED INSERT
MPC22006T 3/8 HOSE BARB NONVALVED INSERT
MPC22006T03 3/8 HOSE BARB NONVALVED INSERT
MPC22006T03M 3/8 HOSE BARB NONVALVED INSERT
MPC22006T39M 3/8 HOSE BARB NONVALVED INSERT
MPC22006TM 3/8 HOSE BARB NONVALVED INSERT
MPC30003M BODY PLUG

MPC30039M BODY PLUG

MPC30L MPC TETHERED PLUG

MPC32003 INSERT CAP

MPC32039 INSERT CAP

MPC32L MPC TETHERED CAP

MPC3301239 3/4 MINI SANI NONVALVED BODY
MPC3301639 1 MAXI SANI NONVALVED BODY
MPCK17004T03 1/4 HOSE BARB NONVALVED BODY LOCK
MPCK17004T39 1/4 HOSE BARB NONVALVED BODY, LOCK
MPCK17006T03 3/8 HOSE BARB NONVALVED BODY, LOCK
MPCK17006T39 3/8 HOSE BARB NONVALVED BODY, LOCK
MPCK32003 INSERT CAP, LOCK

MPCK32039 INSERT CAP LOCKING

MPU171239 3/4 HOSE BARB NONVALVED BODY
MPU221239M 3/4 HOSE BARB NONVALVED INSERT
MPU30039M PLUG MPU

MPU32039 CAP MPU

MPX17803 1/2 HOSE BARB NONVALVED BODY
MPX17839 1/2 HOSE BARB NONVALVED BODY
MPX22603M 3/8 HOSE BARB NONVALVED INSERT
MPX22639M 3/8 HOSE BARB NONVALVED INSERT
MPX22803M 1/2 HOSE BARB NONVALVED INSERT
MPX22839M 1/2 HOSE BARB NONVALVED INSERT
MPX30003M PLUG

MPX30039M PLUG

MPX32003 MPX CAP BODY

MPX32039 MPX CAP BODY

MPX3301239 3/4 MINI SANI BODY

MPXK17803 1/2 HOSE BARB NONVALVED BODY, LOCK
MPXK17839 1/2 HOSE BARB NONVALVED BODY, LOCK
MPXK32003 MPX CAP BODY,LOCKING

MPXK32039 MPX CAP BODY LOCKING

NS2D1002 1/8 MNPT VALVED INLINE BODY
NS2D1204 1/4 PTF VALVED PANEL MOUNT BODY
NS2D1304 1/4 PTF VALVED INLINE BODY




NS2D1602 1/8 HOSE BARB VALVED PANEL MOUNT BODY
NS2D1604 1/4 HOSE BARB VALVED PANEL MOUNT BODY
NS2D1702 1/8 HOSE BARB VALVED INLINE BODY
NS2D1704 1/4 HOSE BARB VALVED INLINE BODY
NS2D2004 1/4 PTF VALVED INLINE INSERT

NS2D2202 1/8 HOSE BARB VALVED INLINE INSERT
NS2D2204 1/4 HOSE BARB VALVED INLINE INSERT
NS2D2402 1/8 NPT VALVED INLINE INSERT

NS4D10004 1/4 NPT VALVED INLINE BODY

NS4D1000406 1/4 NPT VALVED INLINE BODY
NS4D10004BSPT 1/4 BSPT VALVED INLINE BODY
NS4D10004BSPT0O6 1/4 BSPT VALVED INLINE BODY

NS4D13004 1/4 PTF VALVED INLINE BODY

NS4D13006 3/8 PTF VALVED INLINE BODY

NS4D1300606 3/8 PTF VALVED INLINE BODY

NS4D17002 1/8 HOSE BARB VALVED INLINE BODY
NS4D1700206 1/8 HOSE BARB VALVED INLINE BODY
NS4D17004 1/4 HOSE BARB VALVED INLINE BODY
NS4D1700406 1/4 HOSE BARB VALVED INLINE BODY
NS4D17006 3/8 HOSE BARB VALVED INLINE BODY
NS4D1700606 3/8 HOSE BARB VALVED INLINE BODY
NS4D20004 1/4 PTF VALVED INLINE INSERT

NS4D20006 3/8 PTF VALVED INLINE INSERT

NS4D2000606 3/8 PTF VALVED INLINE INSERT

NS4D22002 1/8 HOSE BARB VALVED INLINE INSERT
NS4D2200206 1/8 HOSE BARB VALVED INLINE INSERT
NS4D22004 1/4 HOSE BARB VALVED INLINE INSERT
NS4D2200406 1/4 HOSE BARB VALVED INLINE INSERT
NS4D22006 3/8 HOSE BARB VALVED INLINE INSERT
NS4D2200606 3/8 HOSE BARB VALVED INLINE INSERT
NS4D24004 1/4 NPT VALVED INSERT

NS4D2400406 1/4 NPT VALVED INSERT

NS4D24004BSPT 1/4 BSPT VALVED INSERT

NS4D24004BSPT0O6 1/4 BSPT VALVED INSERT

NS4D40004 1/4 PTF VALVED PANEL MOUNT INSERT
NS4D40006 3/8 PTF VALVED PANEL MOUNT INSERT
NS4D4000606 3/8 PTF VALVED PANEL MOUNT INSERT
NS4D42002 1/8 HOSE BARB VALVED PANEL MOUNT INSERT
NS4D4200206 1/8 HOSE BARB VALVED PANEL MOUNT INSERT
NS4D42004 1/4 HOSE BARB VALVED PANEL MOUNT INSERT
NS4D4200406 1/4 HOSE BARB VALVED PANEL MOUNT INSERT
NS4D42006 3/8 HOSE BARB VALVED PANEL MOUNT INSERT
NS4D4200606 3/8 HOSE BARB VALVED PANEL MOUNT INSERT
NS6D10008 1/2 NPT VALVED BODY




NS6D10008BSPT 1/2 BSPT VALVED BODY

NS6D13008 1/2 COMPRESSION VALVED INLINE BODY
NS6D17006 3/8 HOSE BARB VALVED INLINE BODY
NS6D17008 1/2 HOSE BARB VALVED INLINE BODY
NS6D20008 1/2 COMPRESSION VALVED INLINE INSERT
NS6D22006 3/8 HOSE BARB INSERT VALVED INLINE INSERT
NS6D22008 1/2 HOSE BARB VALVED INLINE INSERT
NS6D24008 1/2 NPT VALVED INSERT

NS6D24008BSPT 1/2 BSPT VALVED INSERT

NS6D40008 1/2 COMPRESSION VALVED PANEL MOUNT INSERT
NS6D42006 3/8 HOSE BARB VALVED PANEL MOUNT INSERT
NS6D42008 1/2 HOSE BARB VALVED PANEL MOUNT INSERT
NSHD10006BSPT 3/8 BSPT VALVED INLINE BODY

NSHD10008 1/2 MNPT VALVED INLINE BODY

NSHD10012 3/4 NPT VALVED INLINE BODY

NSHD13006 3/8 JACO VALVED INLINE BODY

NSHD13008 1/2 JACO VALVED INLINE BODY

NSHD17006 3/8 HOSE BARB VALVED INLINE BODY
NSHD17008 1/2 HOSE BARB VALVED INLINE BODY
NSHD17010 5/8 HOSE BARB VALVED INLINE BODY
NSHD17012 3/4 HOSE BARB VALVED INLINE BODY
NSHD19006 3/8 FNPT VALVED INLINE BODY

NSHD20006 3/8 JACO VALVED INLINE INSERT

NSHD20008 1/2 JACO VALVED INLINE INSERT

NSHD22006 3/8 HOSE BARB VALVED INLINE INSERT
NSHD22008 1/2 HOSE BARB VALVED INLINE INSERT
NSHD22010 5/8 HOSE BARB VALVED INLINE INSERT
NSHD22012 3/4 HOSE BARB VALVED INLINE INSERT
NSHD24006BSPT 3/8 BSPT VALVED INLINE INSERT

NSHD24008 1/2 MINPT VALVED INLINE INSERT

NSHD24012 3/4 NPT VALVED INSERT

NSHD26006 3/8 FNPT VALVED INLINE INSERT

NSHPMKIT12 PANEL MOUNT KIT FOR NSH (EPDM)
PLC10004 1/4 NPT NONVALVED BODY

PLC1000412 1/4 NPT NONVALVED BODY

PLC1000412BSPT 1/4 MBSPT NONVALVED BODY

PLC10004BSPT 1/4 BSPT NONVALVED BODY

PLC10006 3/8 NPT NONVALVED BODY

PLC1000612 3/8 MNPT NONVALVED BODY
PLC1000612BSPT 3/8 MBSPT NONVALVED BODY PLC12
PLC10006BSPT 3/8 BSPT NONVALVED BODY

PLC11004 1/4 JOHN GUEST NONVALVED PANEL MOUNT BODY
PLC12004 1/4 PTF NONVALVED PANEL MOUNT BODY
PLC12006 3/8 PTF NONVALVED PANEL MOUNT BODY




PLC1200612 3/8 PTF NONVALVED PANEL MOUNT BODY PP
PLC120M10 10MM PTF NONVALVED PANEL MOUNT BODY
PLC120M8 8MM PTF NONVALVED PANEL MOUNT BODY
PLC13004 1/4 PTF NONVALVED INLINE BODY

PLC13006 3/8 PTF NONVALVED INLINE BODY

PLC1300612 3/8 PTF NONVALVED INLINE BODY

PLC130M10 10MM PTF NONVALVED INLINE BODY

PLC130M8 8MM PTF NONVALVED INLINE BODY

PLC14004 1/4 JOHN GUEST NONVALVED INLINE BODY
PLC14006 3/8 JOHN GUEST NONVALVED INLINE BODY
PLC16004 1/4 HOSE BARB NONVALVED PANEL MOUNT BODY
PLC1600412 1/4 HOSE BARB NONVALVED PANEL MOUNT BODY
PLC16005 5/16 HOSE BARB NONVALVED PANEL MOUNT BODY
PLC16006 3/8 HOSE BARB NONVALVED PANEL MOUNT BODY
PLC1600612 3/8 HOSE BARB NONVALVED PANEL MOUNT BODY
PLC17004 1/4 HOSE BARB NONVALVED INLINE BODY
PLC1700412 1/4 HOSE BARB NONVALVED INLINE BODY
PLC17005 5/16 HOSE BARB NONVALVED INLINE BODY
PLC17006 3/8 HOSE BARB NONVALVED INLINE BODY
PLC1700612 3/8 HOSE BARB NONVALVED INLINE BODY
PLC20004 1/4 PTF NONVALVED INLINE INSERT

PLC20006 3/8 PTF NONVALVED INLINE INSERT

PLC2000612 3/8 PTF NONVALVED INLINE INSERT

PLC200M10 10MM PTF NONVALVED INLINE INSERT

PLC200M8 8MM PTF NONVALVED INLINE INSERT

PLC21006 3/8 PTF NONVALVED ELBOW INSERT

PLC2100612 3/8 PTF NONVALVED ELBOW INSERT

PLC22004 1/4 HOSE BARB NONVALVED INLINE INSERT
PLC2200412 1/4 HOSE BARB NONVALVED INLINE INSERT
PLC22005 5/16 HOSE BARB NONVALVED INLINE INSERT
PLC22006 3/8 HOSE BARB NONVALVED INLINE INSERT
PLC2200612 3/8 HOSE BARB NONVALVED INLINE INSERT
PLC23004 1/4 HOSE BARB NONVALVED ELBOW INSERT
PLC2300412 1/4 HOSE BARB NONVALVED ELBOW INSERT
PLC23006 3/8 HOSE BARB NONVALVED ELBOW INSERT
PLC2300612 3/8 HOSE BARB NONVALVED ELBOW INSERT
PLC24004 1/4 NPT NONVALVED INSERT

PLC2400412 1/4 NPT NONVALVED INSERT

PLC24004BSPT 1/4 BSPT NONVALVED INSERT

PLC24006 3/8 NPT NONVALVED INSERT

PLC24006BSPT 3/8BSPT NONVALVED INSERT

PLC29004 1/4 JOHN GUEST NONVALVED INLINE INSERT
PLC29006 3/8 JOHN GUEST NONVALVED INLINE INSERT
PLC300 BODY PLUG




PLC310 BODY CAP

PLC320 INSERT CAP

PLC40004 1/4 PTF NONVALVED PANEL MOUNT INSERT
PLC40006 3/8 PTF NONVALVED PANEL MOUNT INSERT
PLC400M10 10MM PTF NONVALVED PANEL MOUNT INSERT
PLC400M8 8MM PTF NONVALVED PANEL MOUNT INSERT
PLC41004 1/4 JOHN GUEST NONVALVED PANEL MOUNT INSERT
PLC42004 1/4 HOSE BARB NONVALVED PANEL MOUNT INSERT
PLC4200412 1/4 HOSE BARB NONVALVED PANEL MOUNT INSERT
PLC42005 5/16 HOSE BARB NONVALVED PANEL MOUNT INSERT
PLC42006 3/8 HOSE BARB NONVALVED PANEL MOUNT INSERT
PLC4200612 3/8 HOSE BARB NONVALVED PANEL MOUNT INSERT
PLCD10004 1/4 NPT VALVED BODY

PLCD1000412 1/4 NPT VALVED BODY

PLCD1000412BSPT 1/4 MBSPT VALVED BODY

PLCD10004BSPT 1/4 BSPT VALVED BODY

PLCD10006 3/8 NPT VALVED BODY

PLCD1000612 3/8 NPT VALVED BODY

PLCD1000612BSPT 3/8 MBSPT VALVED BODY

PLCD10006BSPT 3/8 BSPT VALVED BODY

PLCD11004 1/4 JOHN GUEST VALVED PANEL MOUNT BODY
PLCD12004 1/4 PTF VALVED PANEL MOUNT BODY

PLCD12006 3/8 PTF VALVED PANEL MOUNT BODY
PLCD1200612 3/8 PTF VALVED PANEL MOUNT BODY
PLCD120M10 10MM PTF VALVED PANEL MOUNT BODY
PLCD120M8 8MM PTF VALVED PANEL MOUNT BODY

PLCD13004 1/4 PTF VALVED INLINE BODY

PLCD13006 3/8 PTF VALVED INLINE BODY

PLCD1300612 3/8 PTF VALVED INLINE BODY

PLCD130M10 10MM PTF VALVED INLINE BODY

PLCD130M8 8MM PTF VALVED INLINE BODY

PLCD14004 1/4 JOHN GUEST VALVED INLINE BODY

PLCD14006 3/8 JOHN GUEST VALVED INLINE BODY

PLCD16004 1/4 HOSE BARB VALVED PANEL MOUNT BODY
PLCD1600412 1/4 HOSE BARB VALVED PANEL MOUNT BODY
PLCD16005 5/16 HOSE BARB VALVED PANEL MOUNT BODY
PLCD16006 3/8 HOSE BARB VALVED PANEL MOUNT BODY
PLCD1600612 3/8 HOSE BARB VALVED PANEL MOUNT BODY
PLCD17004 1/4 HOSE BARB VALVED INLINE BODY

PLCD1700412 1/4 HOSE BARB VALVED INLINE BODY

PLCD17005 5/16 HOSE BARB VALVED INLINE BODY

PLCD17006 3/8 HOSE BARB VALVED INLINE BODY

PLCD1700612 3/8 HOSE BARB VALVED INLINE BODY
PLCD17040612 1/4 SOFTUBE VALVED INLINE BODY




PLCD17060812 3/8 SOFTUBE VALVED INLINE BODY

PLCD20004 1/4 PTF VALVED INLINE INSERT

PLCD20006 3/8 PTF VALVED INLINE INSERT

PLCD2000612 3/8 PTF VALVED INLINE INSERT

PLCD200M10 10MM PTF VALVED INLINE INSERT

PLCD200M8 8MM PTF VALVED INLINE INSERT

PLCD200M812 8MM PTF VALVED INLINE INSERT

PLCD21006 3/8 PTF VALVED ELBOW INSERT

PLCD2100612 3/8 PTF VALVED ELBOW INSERT

PLCD22004 1/4 HOSE BARB VALVED INLINE INSERT
PLCD2200412 1/4 HOSE BARB VALVED INLINE INSERT
PLCD22005 5/16 HOSE BARB VALVED INLINE INSERT
PLCD22006 3/8 HOSE BARB VALVED INLINE INSERT
PLCD2200612 3/8 HOSE BARB VALVED INLINE INSERT
PLCD22040612 1/4 SOFTUBE VALVED INSERT

PLCD22060812 3/8 SOFTUBE VALVED INSERT

PLCD23004 1/4 HOSE BARB VALVED ELBOW INSERT
PLCD2300412 1/4 HOSE BARB VALVED ELBOW INSERT
PLCD23006 3/8 HOSE BARB VALVED ELBOW INSERT
PLCD2300612 3/8 HOSE BARB VALVED ELBOW INSERT
PLCD24004 1/4 NPT VALVED INSERT

PLCD2400412 1/4 NPT VALVED INSERT

PLCD24004BSPT 1/4 BSPT VALVED INSERT

PLCD24006 3/8 NPT VALVED INSERT

PLCD24006BSPT 3/8 BSPT VALVED INSERT

PLCD29004 1/4 JOHN GUEST VALVED INLINE INSERT
PLCD29006 3/8 JOHN GUEST VALVED INLINE INSERT
PLCD40004 1/4 PTF VALVED PANEL MOUNT INSERT
PLCD40006 3/8 PTF VALVED PANEL MOUNT INSERT
PLCD400M10 10MM PTF VALVED PANEL MOUNT INSERT
PLCD400MS8 8MM PTF VALVED PANEL MOUNT INSERT
PLCD41004 1/4 JOHN GUEST VALVED PANEL MOUNT INSERT
PLCD42004 1/4 HOSE BARB VALVED PANEL MOUNT INSERT
PLCD4200412 1/4 HOSE BARB VALVED PANEL MOUNT INSERT
PLCD42005 5/16 HOSE BARB VALVED PANEL MOUNT INSERT
PLCD42006 3/8 HOSE BARB VALVED PANEL MOUNT INSERT
PLCD4200612 3/8 HOSE BARB VALVED PANEL MOUNT INSERT
PLM12004 1/4 PTF NONVALVED MULTI-MOUNT BODY
PLM12006 3/8 PTF NONVALVED MULTI-MOUNT BODY
PLM16004 1/4 HOSE BARB NONVALVED MULTI-MOUNT BODY
PLM16005 5/16 HOSE BARB NONVALVED MULTI-MOUNT BODY
PLM16006 3/8 HOSE BARB NONVALVED MULTI-MOUNT BODY
PLMD12004 1/4 PTF VALVED MULTI-MOUNT BODY
PLMD12006 3/8 PTF VALVED MULTI-MOUNT BODY




PLMD16004 1/4 HOSE BARB VALVED MULTI-MOUNT BODY
PLMD16005 5/16 HOSE BARB VALVED PANEL MOUNT BODY
PLMD16006 3/8 HOSE BARB VALVED MULTI-MOUNT BODY
PMC1002 1/8 NPT NONVALVED BODY

PMC100212 1/8 NPT NONVALVED BODY

PMC100212BSPT 1/8 MBSPT NONVALVED BODY

PMC1002BSPT 1/8 BSPT NONVALVED BODY

PMC1004 1/4 NPT NONVALVED BODY

PMC100412 1/4 MNPT NONVALVED BODY

PMC100412BSPT 1/4 MBSPT NONVALVED BODY

PMC1004BSPT 1/4 BSPT NONVALVED BODY

PMC12025 5/32 PTF NONVALVED PANEL MOUNT BODY
PMC1204 1/4 PTF NONVALVED PANEL MOUNT BODY
PMC120412 1/4 PTF NONVALVED PANEL MOUNT BODY
PMC12M42 4MM PTF NONVALVED PANEL MOUNT BODY
PMC13025 5/32 PTF NONVALVED INLINE BODY

PMC1304 1/4 PTF NONVALVED INLINE BODY

PMC130412 1/4 PTF NONVALVED INLINE BODY

PMC13M42 4MM PTF NONVALVED INLINE BODY

PMC13M5 5MM PTF NPNVALVED INLINE BODY

PMC1601 1/16 HOSE BARB NONVALVED PANEL MOUNT BODY
PMC160112 1/16 HOSE BARB NONVALVED PANEL MOUNT BODY
PMC1602 1/8 HOSE BARB NONVALVED PANEL MOUNT BODY
PMC160212 1/8 HOSE BARB NONVALVED PANEL MOUNT BODY
PMC1603 3/16 HOSE BARB NONVALVED PANEL MOUNT BODY
PMC1604 1/4 HOSE BARB NONVALVED PANEL MOUNT BODY
PMC160412 1/4 HOSE BARB NONVALVED PANEL MOUNT BODY
PMC1701 1/16 HOSE BARB NONVALVED INLINE BODY
PMC170112 1/16 HOSE BARB NONVALVED INLINE BODY
PMC1702 1/8 HOSE BARB NONVALVED BODY PMC
PMC170212 1/8 HOSE BARB NONVALVED INLINE BODY
PMC1703 3/16 HOSE BARB NONVALVED INLINE BODY
PMC1704 1/4 HOSE BARB NONVALVED INLINE BODY
PMC170412 1/4 HOSE BARB NONVALVED INLINE BODY
PMC181032 10-32 NONVALVED PANEL MOUNT BODY
PMC191032 10-32 NONVALVED INLINE BODY

PMC20025 5/32 PTF NONVALVED INSERT

PMC2004 1/4 PTF NONVALVED INLINE INSERT

PMC200412 1/4 PTF NONVALVED INLINE INSERT

PMC2006 3/8 PTF NONVALVED INSERT

PMC20M42 4AMM PTF NONVALVED INSERT

PMC21025 5/32 PTF NONVALVED ELBOW INSERT
PMC2102512 5/32 PTF NONVALVED ELBOW INSERT

PMC2104 1/4 PTF NONVALVED ELBOW INSERT




PMC210412 1/4 PTF NONVALVED ELBOW INSERT
PMC2201 1/16 HOSE BARB NONVALVED INLINE INSERT
PMC220112 1/16 HOSE BARB NONVALVED INLINE INSERT
PMC2202 1/8 HOSE BARB NONVALVED INLINE INSERT
PMC220212 1/8 HOSE BARB NONVALVED INLINE INSERT
PMC2203 3/16 HOSE BARB NONVALVED INLINE INSERT
PMC2204 1/4 HOSE BARB NONVALVED INLINE INSERT
PMC220412 1/4 HOSE BARB NONVALVED INLINE INSERT
PMC2302 1/8 HOSE BARB NONVALVED ELBOW INSERT
PMC230212 1/8 HOSE BARB NONVALVED ELBOW INSERT
PMC2304 1/4 HOSE BARB NONVALVED ELBOW INSERT
PMC230412 1/4 HOSE BARB NONVALVED ELBOW INSERT
PMC2402 1/8 MNPT NONVALVED INSERT

PMC240212 1/8 NPT NONVALVED INSERT

PMC2402BSPT 1/8 BSPT NONVALVED INSERT

PMC2404 1/4 NPT NONVALVED INSERT

PMC24042812 1/4-28 THREAD NONVALVED INLINE INSERT
PMC2404BSPT 1/4 BSPT NONVALVED INSERT

PMC281032 10-32 NONVALVED INSERT

PMC30 BODY PLUG

PMC31 BODY CAP

PMC32 INSERT CAP

PMC4004 1/4 PTF NONVALVED PANEL MOUNT INSERT
PMC4201 1/16 HOSE BARB NONVALVED PANEL MOUNT INSERT
PMC4202 1/8 HOSE BARB NONVALVED PANEL MOUNT INSERT
PMC4203 3/16 HOSE BARB NONVALVED PANEL MOUNT INSERT
PMC4204 1/4 HOSE BARB NONVALVED PANEL MOUNT INSERT
PMCD1002 1/8 NPT VALVED BODY

PMCD100212 1/8 NPT VALVED BODY

PMCD100212BSPT 1/8 MBSPT VALVED BODY

PMCD1002BSPT 1/8 BSPT VALVED BODY

PMCD1004 1/4 NPT VALVED BODY

PMCD100412 1/4 NPT VALVED BODY

PMCD100412BSPT 1/4 MBSPT VALVED BODY

PMCD1004BSPT 1/4 BSPT VALVED BODY

PMCD12025 5/32 PTF VALVED PANEL MOUNT BODY
PMCD1204 1/4 PTF VALVED PANEL MOUNT BODY
PMCD120412 1/4 PTF VALVED PANEL MOUNT BODY
PMCD12M42 4MM PTF VALVED PANEL MOUNT BODY
PMCD13025 5/32 PTF VALVED BODY PMC

PMCD1304 1/4 PTF VALVED INLINE BODY

PMCD130412 1/4 PTF VALVED INLINE BODY

PMCD13M42 4MM PTF VALVED INLINE BODY

PMCD13M5 5MM PTF VALVED INLINE BODY ASSY PMC




PMCD1601 1/16 HOSE BARB VALVED PANEL MOUNT BODY
PMCD160112 1/16 HOSE BARB VALVED PANEL MOUNT BODY
PMCD1602 1/8 HOSE BARB VALVED PANEL MOUNT BODY
PMCD160212 1/8 HOSE BARB VALVED PANEL MOUNT BODY
PMCD1603 3/16 HOSE BARB VALVED PANEL MOUNT BODY
PMCD1604 1/4 HOSE BARB VALVED PANEL MOUNT BODY
PMCD160412 1/4 HOSE BARB VALVED PANEL MOUNT BODY
PMCD1701 1/16 HOSE BARB VALVED INLINE BODY
PMCD170112 1/16 HOSE BARB VALVED INLINE BODY
PMCD1702 1/8 HOSE BARB VALVED INLINE BODY
PMCD170212 1/8 HOSE BARB VALVED INLINE BODY
PMCD1703 3/16 HOSE BARB VALVED INLINE BODY
PMCD1704 1/4 HOSE BARB VALVED INLINE BODY
PMCD170412 1/4 HOSE BARB VALVED INLINE BODY
PMCD18042812 1/4-28 PORT VALVED PANEL MOUNT BODY
PMCD181032 10-32 VALVED PANEL MOUNT BODY
PMCD19042812 1/4-28 PORT VALVED INLINE BODY
PMCD191032 10-32 VALVED INLINE BODY

PMCD20025 5/32 PTF VALVED INSERT

PMCD2004 1/4 PTF VALVED INLINE INSERT

PMCD200412 1/4 PTF VALVED INLINE INSERT

PMCD2006 3/8 PTF VALVED INLINE INSERT

PMCD20M42 AMM PTF VALVED INLINE INSERT
PMCD2102512 5/32 PTF VALVED ELBOW INSERT

PMCD2104 1/4 PTF VALVED ELBOW INSERT
PMCD210412 1/4 PTF VALVED ELBOW INSERT

PMCD2201 1/16 HOSE BARB VALVED INLINE INSERT
PMCD220112 1/16 HOSE BARB VALVED INLINE INSERT
PMCD2202 1/8 HOSE BARB VALVED INLINE INSERT
PMCD220212 1/8 HOSE BARB VALVED INLINE INSERT
PMCD2203 3/16 HOSE BARB VALVED INLINE INSERT
PMCD2204 1/4 HOSE BARB VALVED INLINE INSERT
PMCD220412 1/4 HOSE BARB VALVED INLINE INSERT
PMCD2302 1/8 HOSE BARB VALVED ELBOW INSERT
PMCD230212 1/8 HOSE BARB VALVED ELBOW INSERT
PMCD2304 1/4 HOSE BARB VALVED ELBOW INSERT
PMCD230412 1/4 HOSE BARB VALVED ELBOW INSERT
PMCD2402 1/8 NPT VALVED INSERT

PMCD240212 1/8 NPT VALVED INSERT

PMCD2402BSPT 1/8 BSPT VALVED INSERT

PMCD2404 1/4 NPT VALVED INSERT

PMCD24042812 1/4-28 THREAD VALVED INLINE INSERT
PMCD2404BSPT 1/4 BSPT VALVED INSERT

PMCD281032 10-32 VALVED INSERT




PMCD4004 1/4 PTF VALVED PANEL MOUNT INSERT
PMCD4201 1/16 HOSE BARB VALVED PANEL MOUNT INSERT
PMCD4202 1/8 HOSE BARB VALVED PANEL MOUNT INSERT
PMCD4203 3/16 HOSE BARB VALVED PANEL MOUNT INSERT
PMCD4204 1/4 HOSE BARB VALVED PANEL MOUNT INSERT
PMCD48042812 1/4-28 PORT VALVED PANEL MOUNT INSERT
PMM1204 1/4 PTF NONVALVED MULTI-MOUNT BODY
PMM1600 1/8 HOSE BARB NONVALVED MULTI-MOUNT BODY
PMM1603 3/16 HOSE BARB NONVALVED MULTI-MOUNT BODY
PMM1604 1/4 HOSE BARB NONVALVED MULTI-MOUNT BODY
PMM181032 10-32 UNF FE NONVALVED MULTI-MOUNT BODY
PMMD1204 1/4 PTF VALVED MULTI-MOUNT BODY
PMMD1602 1/8 HOSE BARB VALVED MULTI-MOUNT BODY
PMMD1603 3/16 HOSE BARB VALVED MULTI-MOUNT BODY
PMMD1604 1/4 HOSE BARB VALVED MULTI-MOUNT BODY
PMMD181032 10-32 VALVED PANEL MOUNT BODY

PMMD2004 1/4 PTF VALVED MULTI-MOUNT INSERT
PS$1700412 1/4 HOSE BARB NONVALVED INLINE BODY
PS1700612 3/8 HOSE BARB NONVALVED INLINE BODY
PSC38MM PUNCTURE SEAL CAP

PSD1700412 1/4 HOSE BARB VALVED INLINE BODY
PSD1700612 3/8 HOSE BARB VALVED INLINE BODY

PTC16010 1/16 HOSE BARB NONVALVED BODY

PTC16020 1/8 HOSE BARB NONVALVED BODY

PTC1602096 1/8 HOSE BARB PANEL MOUNT BODY

PTC22010 1/16 HOSE BARB NONVALVED INSERT

PTC22020 1/8 HOSE BARB NONVALVED INSERT
PTC2202096 1/8 HOSE BARB NONVALVED INLINE INSERT
SMCO01 1/16 HOSE BARB NONVALVED INLINE COUPLING
SMC0112 1/16 HOSE BARB NONVALVED INLINE COUPLING
SMC0191 1/16 HOSE BARB NONVALVED INLINE COUPLING
SMCO1IMBLK 1/16 HOSE BARB NONVALVED INLINE COUPLING
SMCO02 1/8 HOSE BARB NONVALVED INLINE COUPLING
SMC0212 1/8 HOSE BARB NONVALVED INLINE COUPLING
SMC0291 1/8 HOSE BARB NONVALVED INLINE COUPLING
SMCO02MBLK 1/8 HOSE BARB NONVALVED INLINE COUPLING
SMCDO1 1/16 HOSE BARB VALVED INLINE COUPLING
SMCDO1MBLK 1/16 HOSE BARB VALVED INLINE COUPLING
SMCDO02 1/8 HOSE BARB VALVED INLINE COUPLING
SMCD02MBLK 1/8 HOSE BARB VALVED INLINE COUPLING
SMCDM3 3MM HOSE BARB VALVED INLINE COUPLING
SMCDM3MBLK 3MM HOSE BARB VALVED INLINE COUPLING
SMCM3 3MM HOSE BARB NONVALVED INLINE COUPLING

SMCM3MBLK

3MM HOSE BARB NONVALVED INLINE COUPLING




SMF01 1/16 HOSE BARB NONVALVED INLINE BODY
SMF0112 1/16 HOSE BARB NONVALVED INLINE BODY
SMF0191 1/16 HOSE BARB NONVALVED INLINE BODY
SMFO1IMBLK 1/16 HOSE BARB NONVALVED INLINE BODY

SMF02 1/8 HOSE BARB NONVALVED BODY

SMF0212 1/8 HOSE BARB NONVALVED INLINE BODY
SMF0291 1/8 HOSE BARB NONVALVED INLINE BODY
SMFO02MBLK 1/8 HOSE BARB NONVALVED BODY MBLK
SMF10297 1/8 HOSE BARB NONVALVED INLINE BODY
SMF10297MBLK 1/8 HOSE BARB NONVALVED INLINE BODY
SMF1M597 5MM HOSE BARB NONVALVED BODY
SMF1M597MBLK 5MM HOSE BARB NONVALVED INLINE BODY
SMFDO1 1/16 HOSE BARB VALVED INLINE BODY
SMFDO1IMBLK 1/16 HOSE BARB VALVED INLINE BODY

SMFDO02 1/8 HOSE BARB VALVED INLINE BODY
SMFDO2MBLK 1/8 HOSE BARB VALVED INLINE BODY

SMFDM3 3MM HOSE BARB VALVED INLINE BODY
SMFDM3MBLK 3MM HOSE BARB VALVED INLINE BODY

SMFM3 3MM HOSE BARB NONVALVED INLINE BODY
SMFM3MBLK 3MM HOSE BARB NONVALVED INLINE BODY
SMFPMO1 1/16 HOSE BARB NONVALVED PANEL MOUNT BODY
SMFPMO0112 1/16 HOSE BARB NONVALVED PANEL MOUNT BODY
SMFPMO1BLK 1/16 HOSE BARB NONVALVED PANEL MOUNT BODY
SMFPMO02 1/8 HOSE BARB NONVALVED PANEL MOUNT BODY
SMFPM0212 1/8 HOSE BARB NONVALVED PANEL MOUNT BODY
SMFPMO2BLK 1/8 HOSE BARB NONVALVED PANEL MOUNT BODY
SMFPMDO1 1/16 HOSE BARB VALVED PANEL MOUNT BODY
SMFPMDO1BLK 1/16 HOSE BARB VALVED PANEL MOUNT BODY
SMFPMDO02 1/8 HOSE BARB VALVED PANEL MOUNT BODY
SMFPMDO2BLK 1/8 HOSE BARB VALVED PANEL MOUNT BODY
SMFPMDM3 3MM HOSE BARB VALVED PANEL MOUNT BODY
SMFPMDM3BLK 3MM HOSE BARB VALVED PANEL MOUNT BODY
SMFPMM3 3MM HOSE BARB NONVALVED PANEL MOUNT BODY
SMFPMM3BLK 3MM HOSE BARB NONVALVED PANEL MOUNT BODY
SMMO1 1/16 HOSE BARB NONVALVED INSERT

SMMO0112 1/16 HOSE BARB NONVALVED INSERT

SMMO0191 1/16 HOSE BARB NONVALVED INSERT
SMMO1MBLK 1/16 HOSE BARB NONVALVED INSERT

SMMO02 1/8 HOSE BARB NONVALVED INSERT

SMMO0212 1/8 HOSE BARB NONVALVED INSERT

SMMO0291 1/8 HOSE BARB NONVALVED INSERT
SMMO02CBMBLK 1/8 HOSE BARB NONVALVED INLINE BRASS INSERT
SMMO02MBLK 1/8 HOSE BARB NONVALVED INSERT

SMMM3 3MM HOSE BARB NONVALVED INSERT




SMMM3MBLK

3MM HOSE BARB NONVALVED INSERT

SMMM5 5MM HOSE BARB NONVALVED INLINE INSERT

SMMP MALE PLUG

SMMPMO1 1/16 HOSE BARB NONVALVED PANEL MOUNT INSERT
SMMPMO0112 1/16 HOSE BARB NONVALVED PANEL MOUNT INSERT
SMMPMO1BLK 1/16 HOSE BARB NONVALVED PANEL MOUNT INSERT
SMMPMO02 1/8 HOSE BARB NONVALVED PANEL MOUNT INSERT
SMMPMO0212 1/8 HOSE BARB NONVALVED PANEL MOUNT INSERT
SMMPMO02BLK 1/8 HOSE BARB NONVALVED PANEL MOUNT INSERT
SMMPMO02CBBLK 1/8 HOSE BARB NONVALVED PANEL MOUNT BRASS INSERT
SMMPMM3 3MM HOSE BARB NONVALVED PANEL MOUNT INSERT
SMMPMM3BLK 3MM HOSE BARB NONVALVED PANEL MOUNT INSERT
SMPT02 1/8 NPT NONVALVED BODY

SMPT0212 1/8 NPT NONVALVED BODY

SMPTO2BLK 1/8 NPT NONVALVED BODY

SMPTDO2 1/8 NPT VALVED BODY

SMPTDO2BLK 1/8 NPT VALVED BODY

5SQCC221212M 3/8 SANI FITTING NONVALVED INSERT
SQCC222424M 1-1/2 SANI FITTING NONVALVED INSERT
SQCX221212M 3/4 SANI FITTING NONVALVED INSERT
SQCX222416M 1-1/2 SANI NONVALVED INSERT, .86 BORE
SQCX222424M 1-1/2 SANI FITTING NONVALVED INSERT

SRC1702 1/8 HOSE BARB BODY

SRC1703 3/16 HOSE BARB BODY

SRC2202 1/8 HOSE BARB INSERT

SRC2203 3/16 HOSE BARB INSERT

SRC4202CB 1/8 HOSE BARB PANEL MOUNT INSERT

SRC4203CB 3/16 HOSE BARB PANEL MOUNT INSERT

STC1700000 1/2 HOSE BARB x % x % SANITARY VALVED BODY
STC1700100 3/8 HOSE BARB x % x % SANITARY VALVED BODY
STC1700200 1/2 HOSE BARB x % x 1% SANITARY VALVED BODY
STC1700300 3/8 HOSE BARB x % x 1% SANITARY VALVED BODY
STC1700500 1/2 HOSE BARB x % x % SANI ASSY AUTOCLAVABLE
STC1700600 3/8 HOSE BARB x % x % SANI ASSY AUTOCLAVABLE
STC1700700 1/2 HOSE BARB x % x 1%SANI ASSY AUTOCLAVABLE
STC1700800 3/8 HOSE BARB x % x 175SANI ASSY AUTOCLAVABLE
STC2020000 3/4 X 3/4 SANI X 1/2 HOSE BARB

STC2020100 3/4 X 3/4 SANI X 3/8 HOSE BARB

STC2020200 3/4 X 1% SANI X 1/2 HOSE BARB

STC2020300 3/4 X 1% SANI X 3/8 HOSE BARB

STC2020900 3/4 X 3/4 SANI X 3/4 SANI

STC2021000 3/4 X1 1/2 SANI X 3/4 SANI

SX17 6-TUBE BODY

SX42 6-TUBE INSERT




SXF1701 1/16 HOSE BARB NONVALVED BODY
SXF170112 1/16 HOSE BARB NONVALVED BODY

SXF1702 1/8 HOSE BARB NONVALVED BODY
SXF170212 1/8 HOSE BARB NONVALVED BODY

SXF17M3 3MM HOSE BARB NONVALVED BODY
SXF4201 1/16 HOSE BARB NONVALVED INSERT
SXF420112 1/16 HOSE BARB NONVALVED INSERT
SXF4202 1/8 HOSE BARB NONVALVED INSERT
SXF420212 1/8 HOSE BARB NONVALVED INSERT
SXF42M3 3MM HOSE BARB NONVALVED INSERT
SXFD1701 1/16 HOSE BARB VALVED BODY

SXFD1702 1/8 HOSE BARB VALVED BODY

SXFD17M3 3MM HOSE BARB VALVED BODY

SXFD4201 1/16 HOSE BARB VALVED INSERT

SXFD4202 1/8 HOSE BARB VALVED INSERT

SXFD42M3 3MM HOSE BARB VALVED INSERT

SXM1701 1/16 HOSE BARB NONVALVED BODY
SXM170112 1/16 HOSE BARB NONVALVED BODY
SXM1702 1/8 HOSE BARB NONVALVED BODY
SXM170212 1/8 HOSE BARB NONVALVED BODY

SXM17M3 3MM HOSE BARB NONVALVED BODY
SXM4201 1/16 HOSE BARB NONVALVED INSERT
SXM420112 1/16 HOSE BARB NONVALVED INSERT
SXM4202 1/8 HOSE BARB NONVALVED INSERT
SXM420212 1/8 HOSE BARB NONVALVED INSERT
SXM42M3 3MM HOSE BARB NONVALVED INSERT
TF1002 1/8 PTF X 10-32 FITTING

TF1004 1/4 PTF X 10-32 FITTING

TF2002 1/8 PTF X 1/8 NPT FITTING

TF2004 1/4 PTF X 1/8 NPT FITTING

TF2006 3/8 PTF X 1/8 NPT FITTING

TF4004 1/4 PTF X 1/4 NPT FITTING

TF4006 3/8 PTF X 1/4 NPT FITTING

TFB10 FEMALE TENTUBE BODY

TFB1001 1/16 HOSE BARB NONVALVED TENTUBE BODY
TFB100112 1/16 HOSE BARB NONVALVED TENTUBE BODY
TFB1002 1/8 HOSE BARB NONVALVED TENTUBE BODY
TFB100212 1/8 HOSE BARB NONVALVED TENTUBE BODY
TFB10M3 3MM HOSE BARB NONVALVED TENTUBE BODY
TFBD1001 1/16 HOSE BARB VALVED TENTUBE BODY
TFBD1002 1/8 HOSE BARB VALVED TENTUBE BODY
TFBD10M3 3MM HOSE BARB VALVED TENTUBE BODY
TFFO1 1/16 HOSE BARB NONVALVED FITTING BODY, TENTUBE
TFFO112 1/16 HOSE BARB NONVALVED FITTING BODY, TENTUBE




TFFO1IMWHT 1/16 HOSE BARB NONVALVED FITTING BODY, TENTUBE
TFFO2 1/8 HOSE BARB NONVALVED FITTING BODY, TENTUBE
TFF0212 1/8 HOSE BARB NONVALVED FITTING BODY, TENTUBE
TFFO2MWHT 1/8 HOSE BARB NONVALVED FITTING BODY, TENTUBE
TFFDO1 1/16 HOSE BARB VALVED FITTING BODY TENTUBE
TFFDO1IMWHT 1/16 HOSE BARB VALVED FITTING BODY, TENTUBE
TFFDO2 1/8 HOSE BARB VALVED FITTING BODY TENTUBE
TFFDO2MWHT 1/8 HOSE BARB VALVED FITTING BODY, TENTUBE
TFFDM3 3MM HOSE BARB VALVED FITTING BODY, TENTUBE
TFFDM3MWHT 3MM HOSE BARB VALVED FITTING BODY, TENTUBE
TFFM3 3MM HOSE BARB NONVALVED FITTING BODY, TENTUBE
TFFM3MWHT 3MM HOSE BARB VALVED FITTINGG BODY, TENTUBE
TMB10 MALE TENTUBE BODY

TMB1001 1/16 HOSE BARB NONVALVED TENTUBE INSERT
TMB100112 1/16 HOSE BARB NONVALVED TENTUBE INSERT
TMB1002 1/8 HOSE BARB NONVALVED TENTUBE INSERT
TMB100212 1/8 HOSE BARB NONVALVED TENTUBE INSERT
TMB10M3 3MM HOSE BARB NONVALVED TENTUBE INSERT
TMFO1 1/16 HOSE BARB NONVALVED FITTING INSERT, TENTUBE
TMF0112 1/16 HOSE BARB NONVALVED FITTING INSERT, TENTUBE
TMFOLMWHT 1/16 HOSE BARB NONVALVED FITTING INSERT, TENTUBE
TMF02 1/8 HOSE BARB NONVALVED FITTING INSERT TENTUBE
TMF0212 1/8 HOSE BARB NONVALVED FITTING INSERT TENTUBE
TMFO2ZMWHT 1/8 HOSE BARB NONVALVED FITTING INSERT, TENTUBE
TMFM3 3MM HOSE BARB FITTING INSERT, TENTUBE
TMFM3MWHT M3 HOSE BARB NONVALVED FITTING INSERT, TENTUBE
TMPMWHT TENTUBE MALE PLUG

TPM10 TENTUBE PANEL MOUNT ADAPTER

TS10 TENTUBE SHROUD

TT1001 1/16 HOSE BARB NONVALVED TENTUBE

17100112 1/16 HOSE BARB NONVALVED TENTUBE

171002 1/8 HOSE BARB NONVALVED TENTUBE

17100212 1/8 HOSE BARB NONVALVED TENTUBE

TT10M3 3MM HOSE BARB NONVALVED TENTUBE

TTD1001 1/16 HOSE BARB VALVED TENTUBE

TTD1002 1/8 HOSE BARB VALVED TENTUBE

TTD10M3 3MM HOSE BARB VALVED TENTUBE

ZLC10004 1/4 NPTF NONVALVED BODY

ZLC10004BSPT 1/4 BSPT NONVALVED BODY

ZLC16004 1/4 HOSE BARB NONVALVED PANEL MOUNT BODY
ZLC16005 5/16 HOSE BARB NONVALVED PANEL MOUNT BODY
ZLC16006 3/8 HOSE BARB NONVALVED PANEL MOUNT BODY
ZLC17004 1/4 HOSE BARB NONVALVED BODY

ZLC17005 5/16 HOSE BARB NONVALVED INLINE BODY




ZLC17006 3/8 HOSE BARB NONVALVED INLINE BODY)
ZLCD10004 1/4 MNPT VALVED BODY

ZLCD10004BSPT 1/4 BSPT VALVED BODYST)

ZLCD16004 1/4 HOSE BARB VALVED PANEL MOUNT BODY
ZLCD16005 5/16 HOSE BARB VALVED PANEL MOUNT BODY
ZLCD16006 3/8 HOSE BARB VALVED PANEL MOUNT BODY
ZLCD17004 1/4 HOSE BARB VALVED BODY

ZLCD17005 5/16 HOSE BARB VALVED INLINE BODY

ZLCD17006 3/8 HOSE BARB VALVED INLINE BODY

ZLCD22004 1/4 HOSE BARB VALVED INLINE INSERT

ZLCD22005 5/16 HOSE BARB VALVED INLINE INSERT
ZLCD22006 3/8 HOSE BARB VALVED INLINE INSERT

ZLCX10004 1/4 NPT NONVALVED BODY

ZLCX10004BSPT 1/4 BSPT NONVALVED BODY

ZLCX16004 1/4 HOSE BARB NONVALVED PANEL MOUNT BODY
ZLCX16005 5/16 HOSE BARB NONVALVED PANEL MOUNT BODY
ZLCX16006 3/8 HOSE BARB NONVALVED PANEL MOUNT BODY
ZLCX17004 1/4 HOSE BARB NONVALVED INLINE BODY
ZLCX17005 5/16 HOSE BARB NONVALVED INLINE BODY
ZLCX17006 3/8 HOSE BARB NONVALVED INLINE BODY




	Sheet1

